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Tuesday, June 3, 2008

--- Upon commencing at 9:30 a.m.


MR. KAISER:  Please be seated.


Mr. Penny.


MR. PENNY:  Thank you, Mr. Chairman.  There are two pieces of paper that have been circulated this morning.


The first is -- I will just put this on the record for those who aren't here.  We filed answer to Undertaking J5.3 and that, as usual, will be sent out to everyone in the ordinary course.


There is also a summary schedule that is not for this panel but the next panel, the nuclear liability panel, which we prepared partially at Mr. Thompson's request, which just pulls together in one place the revenue requirement impact of the three approaches that have been circulating, which we heard about a few days ago when the rate base panel was up.


So that will be addressed by the nuclear waste panel when we get there, and I will ask for an exhibit number to be assigned to it.


What we have for first thing this morning is the nuclear non-energy revenues panel.  That is Exhibit G2 at tabs 1 and 2 dealing with heavy water sales, isotope sales and inspection and maintenance services.


The estimates for that group are reasonably brief, and so we have the nuclear waste panel ready to go later this morning.


So we have Mr. Cornacchia, Mr. Dennis Dodo and Mr. Robert Morrison and Mr. Long, who has testified previously.  I would ask if Mr. Cornacchia, Mr. Dodo and Mr. Morrison could come forward and be sworn.

ONTARIO POWER GENERATION - PANEL 7 - NUCLEAR NON-ENERGY REVENUES


Mario Cornacchia, Sworn


Dennis Dodo, Sworn


Fred Long, Previously Sworn


Bob Morrison, Sworn

Examination-in-Chief by Mr. Penny:


MR. PENNY:  Thank you.


Mr. Cornacchia, let me start with you.  You are the director of commercial services, inspection, maintenance and commercial services for OPG?


MR. CORNACCHIA:  Commercial services, only.


MR. PENNY:  Yes, a mistake there.  Okay.  In your role as the director of commercial services, you are responsible for international marketing, sales and contract management of OPG's isotope and heavy water sales?


MR. CORNACCHIA:  That's correct.


MR. PENNY:  I understand you have been with OPG since 1990?


MR. CORNACCHIA:  That's correct.


MR. PENNY:  You have been in your current position since roughly 2007?


MR. CORNACCHIA:  That's correct.


MR. PENNY:  And, Mr. Dodo, you are the controller of the inspection and maintenance services group?


MR. DODO:  Correct.


MR. PENNY:  I understand that you have a bachelor of business studies in accounting?


MR. DODO:  Correct.


MR. PENNY:  You also have a graduate certificate in international finance and accounting?


MR. DODO:  Correct.


MR. PENNY:  And a master's of business administration?


MR. DODO:  Correct.


MR. PENNY:  You have been with OPG since 2005?


MR. DODO:  Correct.


MR. PENNY:  You started with the internal audit group, and then moved into your current position?


MR. DODO:  Correct.


MR. PENNY:  And, Mr. Morrison, you're the vice president, engineering and modifications, and also the chief nuclear engineer for OPG?


MR. MORRISON:  That's correct.


MR. PENNY:  In your current position, you are responsible, among other things, for planning specialized inspection and maintenance activities to support OPG's nuclear stations?


MR. MORRISON:  In my former position.


MR. PENNY:  And your former position was the vice president of inspection and maintenance services?


MR. MORRISON:  That is correct.


MR. PENNY:  In connection with that position, which is why you're here today, you were responsible for the planning and conduct of the specialized inspection and maintenance services that is supported both OPG and the Bruce nuclear generating station?


MR. MORRISON:  That is correct.


MR. PENNY:  You, sir, have a bachelor of applied science in engineering science from the University of Toronto?


MR. MORRISON:  That's correct.


MR. PENNY:  And you have been, as I understand it, with OPG since 1978?


MR. MORRISON:  That's also correct.


MR. PENNY:  As you have indicated, from 2004 to 2008, you were the vice president inspection and maintenance services for OPG?


MR. MORRISON:  That's right.


MR. PENNY:  In your recent position, you have taken on Mr. Sellers' role and are now the chief nuclear engineer?


MR. MORRISON:  That's right, since mid April.


MR. PENNY:  Since mid April, thank you.


Mr. Long, you have been previously introduced, but let me ask you, panel, to confirm that the evidence that relates to nuclear non-energy revenues was prepared by you or under your supervision?


MR. DODO:  Correct.


MR. MORRISON:  Yes.


MR. LONG:  Yes.


MR. CORNACCHIA:  Yes.


MR. PENNY:  With respect to the interrogatory responses, similarly, that relates to nuclear non-energy revenues, similarly those were prepared by you or under your supervision?


MR. DODO:  Yes.


MR. MORRISON:  Yes.


MR. LONG:  Yes.


MR. CORNACCHIA:  Yes.


MR. PENNY:  Thank you.  Mr. Chairman, I have no examination -- further examination-in-chief for this panel, so they are available for questions from my friends.


MR. KAISER:  Thank you.  Mr. Rodger.


MR. RODGER:  No questions.  Thank you, sir.


MR. KAISER:  Mr. Thompson.

Cross-examination by Mr. Thompson:


MR. THOMPSON:  Thank you, Mr. Chairman.


Panel, I just have a few questions.  First, if you wouldn't mind turning up, please, Exhibit D2, tab 1, schedule 1, table 1, this is a summary of the other revenues topic for the period 2005 to 2009.


My question is -- it's a high level question.  You see actual, if I am reading this correctly, at line 6, and net revenues of 64 million -- 64.1 in 2007, 62.3 in 2008, and then a fairly significant decline in 2009, and that appears to be attributable, in part, to water sales and processing and inspection and maintenance services.


Could you just tell us why those numbers are declining by it looks like almost a third?


MR. CORNACCHIA:  I can speak to the commercial sales side with regards to the heavy water sales and the processing.  That is primarily due to lower detritiation requirements by our utility customers in 2009.


MR. THOMPSON:  Who can speak to the inspection and maintenance services?


MR. MORRISON:  I can speak to that.  The biggest reason for the decrease from 2008 to 2009 is there are fewer outage days at Bruce for the 2009 year.  The number of outage days reduces to 145 from 216.


Also, we will be finished a very large project at Bruce.  It's called a West Shift project, a very big project.  There is none of that work in 2009.


 There are some smaller reductions, but those are the two major factors that bring it down.


MR. THOMPSON:  All right, thanks.  Now, the other topic I wanted to touch on is the Bruce generating station revenues and costs.


Can someone just by way of a preamble just give me a high-level description of this arrangement?  OPG continues to own these assets and it leases them to Bruce Power LP, is that...


MR. LONG:  That's correct.


MR. THOMPSON:  Is that a long-term leasing arrangement?


MR. LONG:  Yes.  Its first lease term is for 18 years, and it's possible to be extended for another 25 years.


MR. THOMPSON:  Okay.  What I am interested in, panel, is the extent to which this Bruce lease is a drag on the return that you are claiming in this case.


So I think the way I can do is just by taking you to the tables here, Exhibit G2, tab 2, schedule 1, tables 1 through to 5 that have Bruce revenues, and then various costs.

So if I could just run through this, taking 2009 as an example.  The total revenues, if I am reading these tables correctly in table 1, are $275.8 million.  Is that right?

MR. LONG:  That's correct.

MR. THOMPSON:  And then we have at table 2 the fixed assets, which are about 1.1 billion, I think, in 2009, and I believe the purpose of that table is to provide the information that you see on table 3, like depreciation, for example.

MR. LONG:  Yes.  The depreciation, the interest and the return on equity used those fixed asset values.

MR. THOMPSON:  So that table drives what's on table 3.  Then we have those costs at $193.2 million.  Then we have capital tax, and again, I am taking the 2009 column in the next table, that's 2.5 million.  Have I got that correct?

MR. LONG:  That's correct.

MR. THOMPSON:  Dollars.  Then on table 5, we have down in line 6 and 7, if I understand it correctly, the interest costs and the return on equity cost, based on the 10.5 percent that you are seeking in this case.

Those numbers are $27.6 and $66.2 million respectively.

MR. LONG:  That's correct.

MR. THOMPSON:  Okay.  Just on the Bruce direct costs at table 3, what does the phrase "direct costs" mean?

MR. LONG:  These are the costs essentially associated with the -- primarily with the asset which remains owned by OPG.  Also shown there are used fuel storage and management costs.  Under the lease, OPG retains the responsibility for managing the decommissioning and the used fuel and nuclear waste, and what's shown here is the variable cost of used fuel management associated with the quantities at Bruce, which normally flow through in OPG's prescribed facilities, flow through fuel.

MR. THOMPSON:  Does OPG incur indirect costs associated with the Bruce lease?  In other words, if you did this on a fully allocated cost basis, would there be additional indirect costs allocated to the Bruce lease?

MR. LONG:  There would be some very minor costs.  In Mr. Cornacchia's department, he administers the Bruce lease and there are a few costs there.

In our accounting and legal departments, undoubtedly there are a few costs that are incurred, associated with this.

These are all captured in the cost allocation procedure, which is allocated to nuclear, rather than Bruce-specific for purposes of this presentation.

MR. THOMPSON:  Thanks.

MR. LONG:  But they're very small.

MR. THOMPSON:  Could you give me a ballpark number?  Like is it 1 million, 2 million?

MR. LONG:  I would think 2 million would probably capture everything, yes.

MR. THOMPSON:  So let's plug that in, 2 million indirect costs.  So I add up the direct costs, the 193.2, capital tax, 2.5, interest and equity, 27.6.  66.2, and if we add another two, I get $281.3 million.  Would you take that, subject to check?

MR. LONG:  Sorry, where are you adding it up?  On table 3?

MR. THOMPSON:  I am taking the direct costs on table 3, 193.2.

MR. LONG:  Yes.

MR. THOMPSON:  Then I add the 2.5 from table 4.

MR. LONG:  The 2.5 is already included in table 3.

MR. THOMPSON:  Oh, okay.  Double-counting then, fine.

MR. LONG:  So is the interest and return on equity in table 4.

MR. THOMPSON:  Oh, okay, so I have that wrong.

So that the $275.8 million is producing for OPG a return greater than what it is seeking from the ratepayers in this case.  I was double-counting, unfortunately, and I thought there was a drag on return, but there doesn't appear to be a drag on return.

MR. LONG:  No.  In fact there is a very significant net reduction in the nuclear revenue requirement as a result of inclusion of both the Bruce lease revenues and the Bruce costs.

MR. THOMPSON:  Thank you.  Well, I am glad you made one good deal.  Those are my questions.

MR. KAISER:  Thank you.  

Mr. Warren.
Cross-examination by Mr. Warren:


MR. WARREN:  Panel, I have -- with apologies to Mr. Penny -- I said I didn't have any.  I just have a couple to understand what it is that the Board, this Panel, can do with this data in this case.

Now, as I understand it, panel, the Ontario regulation 53/05 provides that the Board, for purposes of section 78.1, the exercise we're engaged in, has to accept the revenues and costs with respect to the lease, as they're set out in the most recent financial statements; is that correct?

MR. LONG:  Could you direct me to the section of the regulation again?

MR. WARREN:  I am looking at subsection 6(2)(5).

MR. LONG:  Yes, I have that.

MR. WARREN:  It says:
"In making its first order under section 78.1 of the Act in respect of Ontario Power Generation Inc., the Board shall accept the amounts for the following matters as set out in Ontario Power Generation's most recently audited financial statements that were approved by the board of directors of OPG Inc. before the effective date of that order."

If I look to (ii), it says:
"Ontario Power Generation's revenues earned with respect to any lease of the Bruce Nuclear Generating stations..."


OPG's costs with respect to the nuclear power generating stations.


Now, just keeping in mind that wording, if we could turn to the tables Mr. Thompson was referring to, are the revenues which are found on table 1 and the costs which are found on table 3, are all of those with respect to 2008-2009 set out in the most recent audited financial statements?

MR. LONG:  No.  The revenues and the costs for 2005 through 2007 will be in the audited financial statements, but not those for 2009 -- 2008 and 2009.

MR. WARREN:  Now, given that, sir, that they're not apparently -- and I appreciate that this touches on a question of legal interpretation, but I am trying to understand whether or not, for purposes of this hearing, is it OPG's view that the Board -- this Panel -- can look at the reasonableness of the forecasts of the revenues and costs, and determine whether they are reasonable for purposes of setting rates.


MR. PENNY:  I think in terms of the position, I can address that and the witnesses can address the factual underpinnings.

But OPG's position is that the reasonableness of the 2008-2009 forecasts is subject to scrutiny by this Board.

The starting place, 2007, is what has to be examined.

MR. WARREN:  Now, given what your counsel has just said, can you tell me, panel, where in the evidence we would find a basis, or the Board would be able to find a basis for concluding that the forecast costs for 2008-2009 -– sorry, the forecast revenues and costs are reasonable?

What evidence would we look to in support of that question?

MR. LONG:  Well, if I were to start with the costs, the lion's share of those costs are made up by depreciation, capital tax, interest, and return on equity.  And that, in itself, is entirely derived from the fixed asset values associated within Bruce that are embedded in the 2007 audited financial statements.

So most of the costs do, in fact, start with the statements, but the derivations, et cetera, of the annual amounts, based on the cost of capital, et cetera, are not to be found in the statement.

So I think most of those will find their reasonableness based on the numbers in the financial statements or in terms of our -- some elements of our rate proposal.


MR. WARREN:  The revenues, sir, where would the Board find evidence with respect to the reasonableness of forecast revenues?


MR. LONG:  In the -- the basis for the revenues, again, are largely, you know -- with the exception of some relatively minor amounts, they're largely the Bruce lease revenues.


In Exhibit G2, tab 2, you know, the basis for those revenues are provided.  The fixed rent component there is a number that is actually embedded in the lease agreement.  It is specified on a year-by-year basis.  The supplemental rent depends on the number of units in service, but, again, it is very -- you know, it is very well prescribed in the lease agreement, and it's currently at a rate of about $28 million per in-service unit.


So I think the reasonableness of that can be directly checked.


The amortization of the prepaid rent is just an accounting entry associated with the upfront lease payment that we received back in 2001.


I think the lion's share of these can be directly checked for reasonableness.


MR. WARREN:  So if I look at table 1, do I understand that your position is that items 6, 7 and 8 are -- essentially, they're fixed by the lease agreement and not subject to change based on the activities at OPG; is that fair?


MR. LONG:  Yes.  Six and 8 are essentially completely fixed, and item 7 could vary depending on the number of units that Bruce has in service at any point in time.


MR. WARREN:  That's a function of what Bruce puts in service, not something -- it's not a decision you take; is that right?


MR. LONG:  That's correct.


MR. WARREN:  If I go to items 1 through 4 for 2009, it's 19.7 million; 2010, 12.6 million.


To what extent are those revenues variable, dependent on circumstances that may arise in the...


MR. LONG:  I think to some extent they could be variable.  The site services, I think as you can see there, has typically been very, very stable.  There is a certain set of services that OPG provides to Bruce Power at site.


Technical engineering services, that is essentially down to zero now, so I think that is very stable.  The low and intermediate level waste services, under the lease agreement, as I mentioned earlier, OPG is responsible for taking and managing the low and intermediate level waste generated by Bruce on a volumetric fee basis.


That has typically been fairly stable, except for the period here that you can see, particularly 2007, where we were obliged to take some additional waste associated with the refurbishment of units 1 and 2, and that's the only reason for that variability.  And those agreements, like the overall waste portion of the lease agreement, are based on a cost recovery approach.


MR. WARREN:  Are there costs which should be set off against items 1 through 4 on table 1, a cost to provide those services?  If so, where would I find those offsetting costs?


MR. LONG:  I am not sure what you mean, "offset"?


MR. WARREN:  Presumably you earn a revenue for providing site services, correct, looking at item 1?


MR. LONG:  Yes.


MR. WARREN:  Presumably there are costs associated with providing those site services; right?


MR. LONG:  Yes, I believe so.


MR. WARREN:  Where would we find those?


MR. LONG:  Well, the low and intermediate level, which again is the lion's share there, is part of the nuclear --the overall nuclear liability that OPG has.  And that essentially gets dealt with, you know, in the same manner as the rest of the nuclear liability obligations, either capitalized as part of the asset retirement cost or is expensed through depreciation.


MR. WARREN:  Is there somewhere in the record, Mr. Long, that I could find the costs for providing the revenue generating services on 1 through 4?


MR. LONG:  I would have to do a little bit of a search on that for you.


MR. WARREN:  Can I get an undertaking to get that, please?


MR. BATTISTA:  That will be undertaking J7.1.


MR. PENNY:  And that is to try and identify or break out the costs associated with items 1 to 4 in the Bruce lease revenues at table 1.


MR. WARREN:  Yes.


MR. LONG:  I can actually point out the lion's share.  In the depreciation line on table 3 --


MR. WARREN:  Right.


MR. LONG:  -- associated with the Bruce.  This is where the incremental low and intermediate level waste costs show up.


So the costs associated with the revenue in line 3 of table 1 show up in line 1 of table 3 as part of the depreciation.  That's the depreciation on the fixed assets that we talked about earlier, as well as the variable costs associated with low and intermediate level waste.  So that is where most of those costs show up.


MR. WARREN:  I think, in light of that, Mr. Chairman, I don't need the undertaking, because we're dealing with relatively small amounts of numbers.


My question is a basic one, Mr. Long.  Should the Board expect that there are any efficiencies that OPG can use to increase -- sorry, decrease the costs of their -- as a result -- increase the revenues for items 1 through 4 in 2008/2009?


MR. LONG:  I am not able to answer that.


MR. WARREN:  Who would be able to answer that question?


MR. LONG:  Again, pointing to the lion's share, which is the low and intermediate waste, those are dealt with on a cost recovery basis.  So I think there is -- in terms of opportunities to increase the margin there, I mean, the margin is zero and I think it will always be zero.


MR. WARREN:  Those are my questions.  Again, my apologies to Mr. Penny.  I told him I had no questions.


MR. KAISER:  Mr. DeVellis.

Cross-examination by Mr. DeVellis:


MR. DEVELLIS:  Thank you, Mr. Chair, just a couple of questions.  Good morning, panel.


You were talking about the Bruce lease.  You said that the revenues from the Bruce lease are all -- sorry, from Bruce are all from the lease, but then when you were discussing the other non-nuclear revenues that are found at G2, tab 1, schedule 1, table 1, you mentioned that a portion of those come from Bruce, as well, such as the -- for example, the inspection and maintenance services and the -- I believe you said the tritium sales; is that correct?


MR. LONG:  Yes.  That's correct.


MR. DEVELLIS:  Is that in addition to the lease, then?


MR. LONG:  Yes.  Strictly in terms of the lease revenue, this is a service that is over and above that.


MR. DEVELLIS:  Okay.  Those would be pursuant to other agreements at Bruce, I take it?


MR. MORRISON:  For inspection and maintenance services, we do have two sub-agreements of the overall agreement at the site.


MR. DEVELLIS:  Then if you could turn up Exhibit G2, tab 1, schedule 1, table 1, you have the various revenue items there.


Then you have -- you deduct from that the NGD-related direct costs.  Those aren't the -- the direct costs aren't broken down according to the various revenue items.  Is it possible to do that?


MR. LONG:  We purposely didn't break those down, because if we were to do it for each of the -- you know, the sub-areas, it would reveal what we considered to be the commercially sensitive information.


MR. DEVELLIS:  How so?


MR. LONG:  It would give information around the -- you know, the costs and the margins on the various areas, heavy water sales, isotope sales or MS.  We operate in essentially competitive markets in providing each of those services.


MR. DEVELLIS:  Okay, thank you.  Those are my questions.


MR. KAISER:  Mr. Buonaguro?


MR. BUONAGURO:  No.


MR. KAISER:  Mr. Faye?

Cross-examination by Mr. Faye:


MR. FAYE:  Yes, thank you, Mr. Chair.


A few questions regarding an Energy Probe interrogatory, and it is L-6-15, if you would like to turn that up. 


Do you have that all right now?

MR. CORNACCHIA:  Yes.

MR. FAYE:  In this interrogatory, we asked about the Darlington tritium storage facility and the new business opportunities that OPG was hoping to derive from that.

One of those businesses was tritium removal.  I wonder if you could tell us, who are your customers for tritium removal services?

MR. CORNACCHIA:  I can suggest to you in general who those customers are, and most of those would be utility customers.  There is also some other international customers both in the States and Europe and Asia, but primarily utility customers.

MR. FAYE:  Is there a reason why you couldn't be more specific about that?

MR. PENNY:  Mr. Chairman, it's a commercial business.  I am not sure we want to telegraph necessarily who our customers are.  It might undermine our ability to generate these revenues, which are 100 percent offsets to the revenue requirement.

MR. KAISER:  Do you need the names of the customers,  Mr. Faye?

MR. FAYE:  I am more interested in the concentration, are they one main customer, are there two main customers.  Can you answer that kind of question?

MR. CORNACCHIA:  Yes, it is one main customer.

MR. FAYE:  One main customer, okay.

This business is part of your regulated application; am I right there?

MR. CORNACCHIA:  That's correct.

MR. FAYE:  Can you explain why this should be part of the regulated business?  Why isn't this a competitive affiliate that handles this kind of thing?

MR. LONG:  The approach we have taken in our current application is essentially the same one that the province and their advisor applied for the interim rate period.  So we have really just carried that on.  That is providing, you know, the benefit of the margin earned on these nuclear related businesses to the regulated customers.

MR. FAYE:  Yes.  I understand that there are potential benefits to the ratepayer through accounting for it in this way.

What I am sort of curious about is the fact that it might have been done that way in the past, do you think it is appropriate to continue doing it that way?

MR. LONG:  It's perhaps something that we might give a different consideration to in the future.

MR. FAYE:  This is a commercial business, and you have competitors in that business?

MR. LONG:  Sorry, I didn't catch the second part of that.

MR. FAYE:  Do you have competitors in these businesses?

MR. CORNACCHIA:  In some of the business areas, yes.

MR. FAYE:  So you would be under some cost pressures to be competitive, then?

MR. CORNACCHIA:  That's correct.

MR. FAYE:  Is there a potential for losses in these businesses?

MR. CORNACCHIA:  I don't believe so.

MR. FAYE:  Why would you say that?

MR. CORNACCHIA:  We have been involved in most of these markets for over 20 years.  We do have a stable number of customers, and the business overall has been quite profitable and we have been able to be quite competitive.

MR. FAYE:  I would like to just read to you the bottom paragraph on that exhibit I referred you to, and this was in response to how costs and revenues would be treated from this business.

You have responded:
"OPG is proposing in this application that all third party revenues and related costs associated with its nuclear non-energy business, including tritium removal services, be recorded as an offset to the determination of the regulated payment amounts."

I think it is quite clear what happens if there is a profit.

If there is a loss, do I understand correctly that that would also be offset in the revenue requirement here?  In other words, the ratepayer would be on the hook for any losses if they ever did occur; is that right?

MR. CORNACCHIA:  That's correct.

MR. PENNY:  Well, just for clarity, in the test period we have a forecast and of course we are living with that forecast, so whether there is losses in the test period would be completely irrelevant, because we would have built in the revenues into the forecast.

I think that needs to be kind of a fundamental premise of the question, whether you are dealing with a hypothetical or whether you are dealing with this case.

MR. FAYE:  Are any of these costs or losses -- revenues or losses offset in any variance account?  Do you record anything in the variance account for this kind of thing?

MR. LONG:  No, no.

MR. FAYE:  Turning for a moment to the costs and revenues associated with Bruce Power, I may have missed it but I didn't see in the evidence who pays the decommissioning costs of that plant.

MR. LONG:  As I mentioned early on, OPG is responsible for the decommissioning and that is included in our overall nuclear liability obligations.

MR. FAYE:  So if I follow that through, the costs of decommissioning, the money that you have to contribute to the fund to eventually decommission the Bruce plant is in this rate case.  The ratepayers on your payment amounts here are paying for whatever is necessary to fund the decommissioning fund for Bruce?

MR. LONG:  I think, as has been indicated earlier and will certainly be the subject of the next panel, our proposal, our application is based on a rate base treatment.

The present value of the cost of decommissioning the Bruce, for example, is embedded in the fixed asset values, and following the same approach as we have for the prescribed assets, the costs associated with decommissioning flow through the depreciation, interest, and return on equity amounts that were shown in one of the tables.

MR. FAYE:  Would you treat any capital improvements to that property in the same way?  Would they be an in addition to your rate base?

MR. LONG:  No, they would not.

MR. FAYE:  I could understand your logic if all capital associated with the Bruce was going to be in your rate base, but I am not certain I follow why just the decommissioning liability ought to flow from your rate base.

MR. LONG:  We have -– actually, it is not in the rate base, but we have given it an equivalent to rate base treatment.

The fixed asset values associated with Bruce, like the other nuclear facilities, include a component called the asset retirement cost, which is the present value at a point in time of the costs of dealing with all nuclear liabilities associated with that facility, including depreciation.

So it's not -- it has the fixed asset values themselves, as well as this component.

MR. FAYE:  Could I ask you, then, does the revenue you receive from Bruce Power for the use of that plant offset the projected costs of decommissioning?

MR. LONG:  The revenues associated with the Bruce, and certainly in terms of our assessment of the acceptability of the, you know, of the lease back in 2001, covered off all manner of things, including depreciation, used fuel management costs, lost profit from not operating Bruce in the Ontario market, et cetera.

MR. FAYE:  I didn't hear you say decommissioning costs there.

MR. LONG:  I think, well --

MR. FAYE:  I heard you say a number of things but  I didn't hear you say --

MR. LONG:  Decommissioning is included, yes.

MR. FAYE:  Just to be clear then, the revenue you get more than offsets your eventual decommissioning costs?

MR. LONG:  That was our assessment back in 2001, yes.

MR. FAYE:  Is it still your assessment now?

MR. LONG:  I am not sure that we have undertaken a new specific assessment, but I would expect the same answer to be given, yes.

MR. FAYE:  That would be on a fully allocated basis?

MR. LONG:  Sorry?

MR. FAYE:  Not just the cost of one more year of operation?

MR. LONG:  I am not sure what you mean, either by that or on a fully allocated basis.

MR. FAYE:  Well, there is going to be an ultimate cost associated with decommissioning the Bruce.  You could put a dollar figure to that; is that right?

MR. LONG:  Yes, that's correct.

MR. FAYE:  You have that amount of money contributed to a fund that will eventually pay for the costs?

MR. LONG:  We will have to set up a fund for all of our nuclear liabilities, including those associated with Bruce.

MR. FAYE:  You haven't yet got one?

MR. LONG:  Oh, we have a very substantial fund.

MR. FAYE:  And part of the money in there is going to dismantle and decommission the Bruce?

MR. LONG:  That's correct. 

MR. FAYE:  And there is enough of a share in there to do the Bruce and not leave -- and leave enough to do the Pickering and Darlington stations?  That's where I'm going with that.


MR. LONG:  Actually, the decommissioning obligations, the decommissioning fund on the Ontario Nuclear Funds Agreement, has been fully funded from day 1, having sufficient funds to decommission and manage their long-term management of low and intermediate level waste for all of our generating stations, including Bruce.


MR. FAYE:  Okay, thanks.  That is all of my questions.

Questions from the Board:


MR. KAISER:  I wonder if I can follow up on that.


If we look at 2007 and we have 300 million in revenue, 215 million in costs.


MR. LONG:  Sorry, is this...


MR. KAISER:  I am looking at table 1, the Bruce revenues, and table 3, the Bruce costs.


MR. LONG:  Yes.


MR. KAISER:  Just to follow up on Mr. Faye's point, are the decommissioning costs in the 215 or are they somewhere else?


MR. LONG:  The...


MR. KAISER:  The costs for 2007 of $215 million, in any sense are there decommissioning costs in those costs?  


MR. LONG:  Yes.  The revenue requirement impact I think is -- and we'll be discussing this more I think on the next panel, given the rate base treatment that we proposed, a piece of depreciation, interest and return on equity is associated with the nuclear liabilities, including the depreciation -- and including the decommissioning.


MR. KAISER:  So in round terms, what would be the decommissioning costs on an annual basis?  You say it is in your annual costs.  How much is it, just in rough terms?


MR. LONG:  I think we've -- we certainly filed an exhibit that's got a piece of that, except that the --


MR. KAISER:  Is that what you filed this morning?


MR. LONG:  No, I think it was filed yesterday.


MR. PENNY:  The next panel will speak to it.  Mr. Long is on that panel.


MR. LONG:  The only comment I would make is that what you will be able to isolate from that is the revenue requirement impact associated with Bruce Nuclear liabilities, but that will include decommissioning, as well as used fuel and lower and intermediate waste.


MR. KAISER:  All right, thank you.  Ms. Campbell.


MS. CAMPBELL:  No questions.


MR. RUPERT:  I have a couple of questions, panel, on the Bruce costs.


The Bruce nuclear general generation station is owned by OPG, but not a prescribed asset under the regulation; right?


MR. LONG:  That's correct.


MR. RUPERT:  So when I go to Exhibit -- actually, first to the regulation, Regulation 53/05, this is section 6, subsection 2, paragraph 9, and you have referred to this in your evidence.  It says:

"The Board shall ensure that Ontario Power Generation Inc. recovers all the costs it incurs with respect to the Bruce nuclear generation stations."


So with that in mind, if I go to table 3 - that is Exhibit G2, tab 2, schedule 1, table 3 - I am struggling to see how line 5, return on equity, is a cost that OPG has incurred.


It is not a regulated asset.  I think you just said it is not a prescribed asset.  This seems to be importing, as I understand it, a rate regulation approach to determining the costs incurred in a non-regulated business.


I am struggling to understand why that amount should be there at all.


MR. LONG:  Okay.  It's true that the approach we have given to Bruce for purposes of defining some of its direct costs is equivalent to a rate base treatment.


This was the same approach that was used by CIBC and the province in establishing interim rates.  If you look at the CIBC report, in fact, there are tables in there that show some of the cases they looked at, and the rate base numbers include both Pickering, Darlington and Bruce.  


This of course was done in advance of the regulation and the -- we separated it out now, but at that point in time, to all intents and purposes, they included Bruce in the rate base.


So we followed a similar approach.


MR. RUPERT:  Sorry.  I understand that CIBC did a report that predated the regulation, but I am not -- it seems to me that this regulation distinguishes the prescribed assets from the non-prescribed assets of the business.


Bruce being a non-prescribed asset, I was surprised that it was given a regulated rate-of-return treatment.


This means, then, that as I understand it - correct me if I'm wrong - the interplay of paragraph 9, which I just read, and paragraph 10, which is the one that says if you've got revenues in excess of the costs incurred, those should be going to reduce the payment amounts for the nuclear facilities at Pickering and Darlington.


This says that OPG will, if I understand this -- your approach correctly, will reduce the payment amounts for Darlington and Pickering, but only after it has given itself a 10-1/2 percent return on equity for the Bruce assets.  That's the impact of this; right?


MR. LONG:  That's correct.


MR. RUPERT:  I am just struggling to figure out how the words "recovers the costs it incurs" - "incurs" sounds like there is a transaction, there is a payment, there's interest, there's depreciation - how a hypothetical regulatory structure applied to non-regulated businesses, costs that business has incurred.


MR. LONG:  Well, certainly for the test period, we have used the forecast.  I mean, it is OPG's view that earning a return on the Bruce assets represents a legitimate cost.


Indeed, in the negotiation and the assessment of the lease itself, that was done in the expectation of earning a return, which I -- which was actually, you know, substantially higher than we're proposing here.


MR. RUPERT:  I understand that.  That was a commercial transaction you did early on.


If there is to be this -- let me back up.


Part of the regulation also, as someone pointed out this morning, ties some information back to your 2007 audited financial statements.  Mr. Warren referred to that section of the regulation.


Would I find -- for example, would I find -- in 2007 actual, you have $27.7 million return on equity.


Would I find a line like that or a number like that in your audited financial statements under "costs"?


MR. LONG:  No.


MR. RUPERT:  No.


So this, I think, sounds to me like it is a matter of interpretation of paragraph 9 of the regulation or 6.2.9.


Is there anything further you can offer on that?  Do you have any further analysis of this paragraph, as to how you came to this interpretation?


MR. LONG:  No.


MR. RUPERT:  Nothing?  Okay.  So if this Panel were to hypothetically say, We would accept table 3, Exhibit G2, tab 2, schedule 3, but eliminate, for example, line 5, which would increase the -- decrease the costs, excuse me, in 2008 to roughly $138 million and decrease the costs in 2009 to somewhere below $130 million, what would your position be as to why that would be an interpretation of this paragraph that would be incorrect and contrary to the regulation?


MR. LONG:  I think, first of all, if you eliminate the return on equity and don't adjust interest, then there isn't even a return on the fixed asset value associated with Bruce.


But, again, I would come back to that would mean that OPG was not receiving any benefit, at all, although it continued -- would, I guess, continue to have some risks associated with Bruce.


Personally, I would find that inappropriate.


MR. RUPERT:  That may be, although the question is whether that is contrary, or not, to the intent of the regulation, I guess, whether it is inappropriate or not.


Would it be possible to -- for the year 2007, to produce an income statement in respect of Bruce showing all of the numbers that are in your audited financial statements - that is, the revenues, the depreciation, the decommissioning liability that's been referred to, the accretion on that - a normal generally accepted accounting principles income statement for the Bruce operation for 2007 that we could then compare to what you've got in table 3?


I assume the names are there.  You incorporate them in your audited financial statements, so it would be a matter of just pulling that together.  That would also include -- I take your point you would have to make some determination as to the amount of interest expense related to the operation.  You would have to do that, I appreciate, but instead of having this rate-regulated structure, just a normal GAAP -- if someone said, Give me your GAAP income statement for the Bruce, what would it look like?


MR. LONG:  Subject to check, I think that could probably be done, yes.


MR. RUPERT:  Could we...


MR. PENNY:  What I am hearing on my side of the desk is we're not sure what's involved in doing that, but -- in terms of the amount of time it would take, but perhaps we can -- we will look at that and make that initial determination.  If it seems problematic, we will come back and discuss it.


MR. KAISER:  Let us know after the break?


MR. PENNY:  I am not sure that will be enough time, but perhaps after the lunch hour.


MR. RUPERT:  Okay, thanks.  The other question I had on Bruce is something that doesn't, I don't think, affect the test periods, but I want to just raise it now in advance of the cost of capital panels that will start next week, I guess.


The Bruce lease was negotiated between OPG, or I guess signed with Bruce in what year, 2000, 2001?


MR. LONG:  In May 2001.


MR. RUPERT:  May 2001.


Then in October 2005, the company received a directive from the province that, in my paraphrasing of it, seems to say, At a future date, please reduce the amount of lease payments Bruce pays to the company in respect of three units that are being refurbished.


MR. LONG:  Yes.  The directive provided for a reduced level of supplementary rent for units 1, 2 and 3 after they are fully refurbished.


So had they not been refurbished, of course we would have received zero supplemental rent for those units.


MR. RUPERT:  Right.  When would that take effect, a ballpark figure?  When do you expect the reduction in --


MR. LONG:  As I say, I'm not sure it is a reduction in the rent, but it is a lower level for those units, for those periods.


I am not sure when those units -- I mean, units 1 and 2 are currently under refurbishment now.  I don't know whether Mr. Morrison knows when they're due to return to service, but...


MR. MORRISON:  I am afraid I don't know precise dates.


MR. RUPERT:  Did OPG receive any compensation from either the province or Bruce for what appears to be, as far as I can understand the history of this, a reduction -- notwithstanding your statement, Mr. Long, the Auditor General was talking in terms of reduction of these payments as a result of the directive, reduction from what the lease agreement had otherwise stipulated?


MR. LONG:  That's correct.


MR. RUPERT:  Did OPG receive any compensation for that?


MR. LONG:  Not to my knowledge.


MR. RUPERT:  Maybe -- we may touch on this in the cost of capital panel.  I think those are my questions.


In terms of, Mr. Penny, how long it might take, I appreciate you have to look at this, but I am assuming most of the information is already pulled together in this exhibit, with perhaps the exception of the nuclear decommissioning liability question and maybe some of this interest allocation.


MR. PENNY:  We just want to check on that, on that assumption, which is why I want to go back and confer.


MR. RUPERT:  Not to beat this thing to death, but I just want to check one last time.  There is nothing in the evidence, in all of these binders, that lays out an analysis of the regulation, at least this conclusion?  There is nothing in writing in any of the material that -- the conclusion being that paragraph 9 requires the company to impute a rate-regulated return on the Bruce assets?


MR. PENNY:  I think it is a matter of interpretation.  OPG takes the position that a cost of the Bruce is a cost of the capital that's it has invested.


MR. RUPERT:  There is nothing in the evidence that goes through an analysis of that point that you are aware of?


MR. PENNY:  I think that is right, because it is not really a matter of fact.  It is a matter of interpretation.


MR. RUPERT:  On that point, I would really hope -- I am sure the company will do it, but the intervenors will turn their minds to this in the final submissions as to the appropriate interpretation of that paragraph.


MR. PENNY:  I am sure they are very happy with that tip, Mr. Rupert.


MR. RUPERT:  Thank you.


MR. KAISER:  If I could follow up on one observation on this issue Mr. Rupert is talking about.


If the Bruce assets were in your rate base -- of any utility, you would expect to earn a rate of return on them.  But if you take some assets and you lease it to somebody else and they're no longer being operated by you, wouldn't you expect that the return would come from the lease payment and not from some return on an asset in rate base?


It's left the rate base, if I can use that conceptually, hasn't it?


MR. LONG:  It has, but in our application, we're giving up all of that return by crediting the nuclear revenue requirement with all of the revenues from Bruce.


So, yes, our original expectation under the lease is that we will get our return through the lease payments, but under the approach here, we are giving all of that up if we don't define the return as one of the costs.


MR. KAISER:  I understand that.  I guess what comes of this analysis is:  Would the ratepayers be better off if a more traditional approach was taken, which is to say this asset has left the rate base.  It's been leased to a third party.  It's gone.  There is no rate of return on it in the regulatory sense.  Whatever return you are entitled to would be as a result of the commercial agreement you have struck, and it would be in the profit, the annual profit, the difference between the revenues and costs which you have shown in the evidence?


MR. LONG:  I think, if you compare table 1 and table 3 -- take 2009, for example.  We're forecasting revenues of $276 million and costs of $193 million, which include the, you know, return on equity component.  That provides a substantial margin that the ratepayers are benefitting from.


So I think if it were given a more traditional approach and excluded completely, then ratepayers would be worse off to the tune of about $80-plus million per year.


MR. KAISER:  All right, thank you.


MR. RUPERT:  Mr. Long, just to come back to this, the Bruce lease was signed, you say, in 2000 to 2001.


It's an unregulated business.  It was, I believe, a voluntary commercial agreement between OPG and Bruce.


So it's sort of an odd thing to drag into a rate-regulated structure in the first place.  What is your view or the company's view as to why the Bruce arrangement, which was covered fully by a long-term lease, was even brought into the mix in this regulation?


MR. LONG:  I think, to a certain extent, that's spoken to in the CIBC report, where it was an item that was put on the table through our discussions with the province, and they recognized it as a government policy decision.  And that's really what it was at the end of the day, that it was built into interim rates and into the regulation based on...


MR. RUPERT:  But it had the effect then, I assume - and it has the effect now, obviously, on your proposal - of having some amount of reduction in the payment amounts otherwise payable in respect of Darlington?


MR. LONG:  That's correct.  And I think for the interim period, those reductions are identified in the CIBC report.


MR. RUPERT:  So it is to provide shelter, if you will, against higher payments on the prescribed assets; would that be a fair assessment?


MR. LONG:  I think that is a fair assessment, yes.


MR. RUPERT:  So the issue and interpretation here is around how much shelter should the Bruce assets provide to the regulated asset payment amounts?  Is that a fair --


MR. LONG:  Whether OPG should get any --


MR. RUPERT:  Whether the entire profit out of the Bruce arrangement should accrue to the benefit of the people who pay for Pickering, or whether only a portion of it should accrue to them and part of it should accrue to OPG?


MR. LONG:  That's correct.


MR. RUPERT:  Okay, thanks.


MR. KAISER:  Any re-examination, Mr. Penny?

Re-Examination By Mr. Penny:


MR. PENNY:  If I could just have your indulgence.


Yes, thank you, Mr. Chairman.  I just had two questions in re-examination.  They're probably both for you, Mr. Long, just arising out of some of the earlier cross-examination and some of the discussion that we have just had.


I just wanted to clarify your understanding whether the 2005 to 2007 interim rates were based on a scenario in which the Bruce assets were included or notionally included in rate base?


MR. LONG:  That's correct.


MR. PENNY:  Did the 5 percent that we have heard about before, that was embedded in those interim rates, apply to that rate base which notionally included the Bruce assets?


MR. LONG:  I believe so, yes.


MR. PENNY:  All right, thank you.  Those are all of my questions.


MR. KAISER:  Thank you.


MR. PENNY:  Would it be appropriate to take the morning break and we will switch panels?


MR. KAISER:  Yes, 20 minutes.


--- Recess taken at 10:31 a.m.


--- Upon resuming at 10:57 a.m.


MR. KAISER:  Please be seated.


Mr. Penny.


MR. PENNY:  So, Mr. Chairman, we have now the nuclear waste panel.  In addition to their prefiled evidence, you will want to have undertaking J1.3, the H1, tab 1, schedule 3 that was passed out yesterday, and the document that I passed out this morning called "Comparison of Treatment of Nuclear Liability Costs."


MR. BATTISTA:  We will give the document, "Comparison of Nuclear Liability Costs", a number of Exhibit K7.1.

EXHIBIT NO. K7.1:  DOCUMENT ENTITLED "COMPARISON OF NUCLEAR LIABILITY COSTS".


MR. PENNY:  Thank you, Mr. Battista.  Mr. Long is doing yeoman's service and is back with us again, but we have Mr. Castellan and Mr. Neil Brydon, so I wonder if they could be sworn.

NUCLEAR NON-ENERGY REVENUES - PANEL 8 - NUCLEAR WASTE MANAGEMENT AND DECOMMISSIONING


Neil Brydon, Sworn


Angelo Castellan, Sworn 


Fred Long, Previously Sworn

Examination-in-Chief by Mr. Penny:


MR. PENNY:  Mr. Brydon, I will start with you.  You're the manager of external reporting and policy for Ontario Power Generation Inc.?


MR. BRYDON:  That's correct.


MR. PENNY:  In that role, you are responsible for preparing external financial information, including annual and quarterly management discussion and analysis, and the annual and quarterly consolidated financial statements?


MR. BRYDON:  Yes.


MR. PENNY:  You are also involved in maintaining the corporate accounting policies and procedures, including monitoring GAAP and changes to GAAP?


MR. BRYDON:  That's correct.


MR. PENNY:  I understand, sir, that you have a degree in business?


MR. BRYDON:  Yes.


MR. PENNY:  And you were admitted to the Institute of Chartered Accountants in 1976?


MR. BRYDON:  That's correct.


MR. PENNY:  You have been with OPG in your current role since -- sorry, you have been with OPG since 1978?


MR. BRYDON:  I was with Ontario Hydro since 1978.


MR. PENNY:  Yes.


MR. BRYDON:  I have been with OPG since 1999.


MR. PENNY:  Thank you.  And you have been in your current position since 2005, I understand?


MR. BRYDON:  That's correct.


MR. PENNY:  Mr. Castellan, you have a degree in applied sciences and chemical engineering from the University of Toronto?


MR. CASTELLAN:  Yes.


MR. PENNY:  And you also have an MBA from York University?


MR. CASTELLAN:  Yes.


MR. PENNY:  You are currently the director of nuclear waste business support?


MR. CASTELLAN:  Yes.


MR. PENNY:  And in that role, you are responsible for coordinating and preparing the business plan and budgets for the nuclear waste management division of OPG?


MR. CASTELLAN:  Correct.


MR. PENNY:  In that capacity, you are involved in the preparation of nuclear waste life cycle cost estimates and liability management and segregated fund accounting?


MR. CASTELLAN:  Yes.


MR. PENNY:  I understand you are, as well, a member of the Professional Engineers of Ontario?


MR. CASTELLAN:  Yes.


MR. PENNY:  Now, gentlemen, as a panel, you were involved in the preparation of the evidence on nuclear waste liabilities that have been filed in this case?


MR. CASTELLAN:  Yes.


MR. LONG:  Yes.


MR. BRYDON:  Yes.


MR. PENNY:  Similarly, with respect to interrogatories that were posed on that evidence, you were involved in the preparation of those answers?


MR. CASTELLAN:  Yes.


MR. LONG:  Yes.


MR. BRYDON:  Yes.


MR. PENNY:  Do you adopt that evidence for the purposes of this hearing?


MR. CASTELLAN:  I do.


MR. LONG:  Yes.


MR. BRYDON:  Yes.


MR. PENNY:  Now, in the last couple of days, there have been some documents in addition to the prefiled evidence and interrogatories, three documents in particular, that have been filed, and I will start with Exhibit J1.3, which was a question that arose out of questioning to you, Mr. Long, when you were here in your first appearance as a member of the rate base panel. 


That arose out of the CIBC report and the options that were outlined at page 19 of that report.  We were asked -- or OPG was asked to do a table, similar to the table in L-2-58, which captured the revenue requirement impact of the other option that was in the CIBC report, which was, I think, described as option 2.


I wonder if you could -- and so Exhibit J1.3 does that, and then provides some explanation and some comment from OPG's point of view on the applicability of this approach.


I wonder if you could just perhaps walk through this, explain what you did and what it means?


MR. LONG:  Okay, yes.  The question related to option 2 in the CIBC report, and what we have done here is gone back and examined what was behind that option and compared and contrasted it to option 1, the so-called rate base treatment which forms the basis of both the CIBC's and our current rate application.


MR. PENNY:  What was your conclusion on flowing through option 2 into the numbers that we have presented in this case?


MR. LONG:  So using the same format as in interrogatory L-2-58, which dealt with the so-called flow-through option, the table on the first page shows option 2 compared to option 1.  And in option 2, the essence of option 2 is that the unfunded nuclear liability is removed from rate base for purposes of calculating the return and substituted by incretion -- accretion costs less segregated fund earnings.


So in that latter respect, it is similar to L-2-58, but it differs, in that the unfunded nuclear liabilities excluded from rate base in this case; whereas, in L-2-58, it is the ARC that is excluded.


MR. PENNY:  Just while we're on that, the term "accretion cost" is used frequently, as is the term "ARC", which, as I understand it -- well, perhaps why don't you tell me what that is, and explain it?


MR. LONG:  Okay.  Perhaps the best place to start is actually with ARO, the so-called asset retirement obligation.  This is the obligation as it shows up on OPG's balance sheet on the liability side.


What that represents -- for all of our nuclear facilities, Bruce, Pickering, Darlington, and our associated waste facilities, what that represents is the present value of the liability associated with those facilities that is currently committed.  So that includes decommissioning costs, all of the fixed costs associated with used fuel and low and intermediate level waste management, plus any incremental or variable costs associated with used fuel and waste management that have been accrued to date, you know, associated with operations to date.


So it represents the present value of the total liability.


The accretion cost respects the fact that it is, indeed, a present value, and each year through our income statement you see a cost, the accretion cost, included, and that represents a return on the ARO to account for the fact that it is a present value and there is a need to account for the time value of money.


The ARC is a component of fixed asset values.


MR. PENNY:  What does ARC stand for?


MR. LONG:  ARC stands for asset retirement cost.  According to the accounting rules, we are required to put the ARO on our balance sheet, any associated funds on our balance sheet, and the ARC in fixed assets.


So the ARC represents a point in time value of the -- present value of the nuclear liability.  So when the company was established, the fixed asset values included ARC.


Any subsequent adjustments to that liability are also included in ARC as a present value.  So, for example, at the end of 2006, there was an increment of approximately $1.4 billion in the liability, and there was a similar increment to the ARC of that same amount.


The other thing about the ARC is that because it is part of fixed assets, it's depreciated over time.  So it declines over time because of depreciation, but, most importantly, it is a present value, and that needs to be taken into account in any approach for developing revenue requirement.


MR. PENNY:  Thank you.  Sorry I interrupted you as you were explaining the --


MR. LONG:  Yes.  So option 2 versus option 1, the table on the first page shows that.  Over the test period, option 2 would require a somewhat higher revenue requirement than option 1.


MR. PENNY:  Was that the case at the time that the CIBC report was prepared?


MR. LONG:  No.  At the time of the CIBC report, on page 19, they refer to the fact, at that point in time, when they were looking you know essentially at 2005, that the option 2 -- sorry, option 1 would require a larger revenue requirement than option 2, and they estimated that as being equivalent to about one dollar per megawatt-hour.


The reason for that shift from option 1, being -- giving a higher revenue requirement than option 2, moving to option 2 giving a higher revenue requirement, is essentially due to the decline in the unfunded liability that has occurred since 2005.  Notwithstanding the fact that the liability increased at the end of 2006, the earnings on the funds and the continual contribution by OPG of $454 million a year has brought it down to a point where there is a crossover in the impact between the two options.


Over on page 2, we provide a number of comments on the various options that have been considered so far in these proceedings.


MR. PENNY:  Can you perhaps just summarize what they are?


MR. LONG:  Basically, there are three.  Option 1 in the CIBC report, the so-called rate base treatment, is what we have based our rate application on, and that is based on earning a return on rate base that includes the ARC.


In Exhibit L-2-58, there was an interpretation made of a question as to what the -- what a flow-through approach would be.  We took that to be something that looks similar to what our income statement looked like.  And, in that case, the ARC was removed from rate base for purposes of determining a return, and the -- that was substituted for by the accretion costs, less seg fund earnings.  That's the so-called flow-through approach.


Option 2 in the CIBC report, as I have just described, removes the unfunded nuclear liability from rate base for purposes of establishing a return, and substitutes that return by the accretion less seg funds earnings, again.


MR. PENNY:  What is our position on the relative appropriateness of the three possibilities?


MR. LONG:  It's OPG's position that option 1, the rate base treatment, is the appropriate revenue requirement treatment for nuclear liabilities.


MR. PENNY:  Can you just explain, briefly, why that is so?


MR. LONG:  For the other two options, I think there are a number of points to be made that, in our view, make them inappropriate.


First, both the flow-through option and option 2 in the CIBC report credit ratepayers with all of the earnings on the segregated funds, effectively; whereas, those funds have been contributed, in fact, by the shareholder.  And certainly even at the beginning of, you know, regulation of these assets, there was in excess of $6 billion in those funds, and currently it is running over 9 billion.


In addition, we feel that any approach that involves nuclear fund earnings is going to result in volatility of regulatory earnings, as well as increased regulatory burden associated with the scrutiny of those forecasts, and that earnings can be volatile is certainly illustrated by things that occurred in the early part of this year with what's been happening in the capital markets.  


At the end of Q1, our earnings on the fund were running -- and this is really just the decommissioning fund -- were running close to $170 million below plan.  So that gives you some sense of the volatility that can be introduced.  Of course, forecasting any performance of funds would be, you know, a pretty difficult task.


So any -- we think that any approach that involves funding, whether it is fund levels or earnings on fund, is not appropriate.


The approach for funding is driven by the Ontario Nuclear Funds Agreement, and that wouldn't necessarily provide the appropriate basis for establishing a revenue requirement.


We feel that the revenue requirement should begin with the ARC, because that's the -- you know, that's an expression of the present value of the liability at a point in time.


The other thing about the funding approach is that -- and this is built into the prescriptions within ONFA.  There is a tendency under ONFA -- or more than a tendency.  The result of the funding under ONFA is really to front-end load the liability.


So the -- you know, again, crediting the earnings on those funds in approach -- then the flow-through approach or option 2 would, in our view, provide an inappropriate basis for establishing the revenue requirement.


Further down in the page, just to give a sense of another way of looking at this question, considered the case of an investor looking at two opportunities.  One is a non-nuclear generating plant costing $100 million, and if this were a regulated entity, then all of that would go into the -- you know, into the rate base and earn a return of and on the committed capital.


The second option is a nuclear plant; again, capital cost of $100 million, but also coming with it a $100 million obligation to be satisfied long term.


If no consideration was given to a return on that second obligation, I would submit that no investor would choose the nuclear option.


It's our view that it is, in fact, appropriate to earn a return on that long-term obligation.  In fact, when OPG was first established, the cost of satisfying that obligation was, in fact, taken into account in the capitalization using OPG's weighted average cost of capital estimate at that point in time.


As I have mentioned, I think, in my first day of testimony, not only is the approach that we have taken in our application the same as what was used by the province in interim rates, but it is our view that sections 6(2)(7) and 6(2)(7) of the -- of Regulation 53/05 requires the asset retirement costs to be included in rate base.  Section 2(v) defines fixed asset values from OPG's audited financial statements to be used, and those asset values include an asset retirement cost.


And the rate base treatment, including earnings on the ARC component, is also clearly contemplated by section 6(2)(7) of the regulation, which deals with the nuclear liability deferral accounts both for the interim period and for future periods, contemplating the possibility that adjustments to the liability may occur between rate orders.

I would further note that in making her recommendation, Ms. McShane, in fact, took into account the rate base approach which we have proposed for nuclear liabilities.

I would also add, following up on some the discussion this morning, that she also took into account the rate base treatment of Bruce costs in coming up with her recommendations on capital structure in cost of capital.

MR. PENNY:  All right, thank you.  Why don't we, just as a housekeeping matter, turn to Exhibit K7.1, and that was the page that we just handed out this morning.  I think I said, Mr. Chairman, that Mr. Thompson had raised with us whether we could produce something that had all of these different options on one page, and we were able to accommodate that.

So perhaps you can just tell us what this is.

MR. LONG:  Yes, in a very summary fashion.  What we have done here is, as you say, try to put all of the options on one page in terms of their revenue requirement impact.

These are not what we consider options.  Option 1 is the only one we consider appropriate, but the other two have been discussed so far.  


So we start the page with the full revenue requirement impact associated with our current proposal.

Now, we haven't got to this yet, but I am going to speak to another exhibit, H1-T1-S3, which lays out, in some detail, the basis and the components behind that.  But if you would just accept that for the moment, that's the revenue requirement impact built into our rate application.

Below it, we have just reproduced the tables from L-2-58 for the flow-through approach and the approach that I just spoke to with respect to option 2 from the CIBC, just reproduced the two tables there.  Then those tables originally just showed the differences between option 1 and those other options.  

We have now included a further line, which takes you down to the actual revenue requirement that you would get under each of those options.

MR. PENNY:  All right.  Thank you, Mr. Long.

Then perhaps we could then turn to the final piece which you just alluded to, which is Exhibit H1, tab 1, schedule 3.

That, as I explained, Mr. Chairman, when introducing it, is OPG's attempt to bring together the various threads of the nuclear waste management and decommissioning costs into one summary table.

Mr. Long, why don't you walk us through that?

MR. LONG:  Okay, yes.  So we prepared this in order to provide some clarity as to what the revenue requirement impact of nuclear liabilities was, and also to show you where the various pieces of that are in the evidence.

So if I could take you to the table itself, we start with the ARC, the asset retirement cost, which is, you know, at the -- you know, sort of at the foundation of the rate base approach that we have taken.

We have shown here the average ARC balance for Bruce separate from Pickering and Darlington.  The reason we have shown -- and this occurs all the way through here.  We separated out the Bruce piece from the Pickering and Darlington piece, because it exists in different parts of the evidence.  You know, in particular, the G2 evidence covers off the Bruce, and the nuclear prescribed assets are covered off in various other exhibits.  So that's the starting point.

Next down, we have the capital structure that has been used to apply the rate base treatment for the interim rate period of 2005 to 2007.  We have used the 55 percent debt, 45 percent equity, which was behind the interim rates.

For -- starting in April 1, 2008 and for 2009, we have used the capital structure proposed in our application, 57.5 percent equity, 42.5 percent debt.

Then down below, we start breaking out the various components of the nuclear revenue requirement that flows from the rate base treatment.

First off is deemed interest, and the interest associated with the prescribed nuclear facilities in Bruce is shown in the references there, but you won't be able to separately identify these numbers.

We have now broken them out by breaking out the ARC from the fixed asset values.  It's a fairly simple apportionment of the interest associated with ARC to total asset value.

Similarly, we have calculated a return on equity based on the capital structure and ARC values up above.  For 2005 through the first quarter of 2008, we have used a 5 percent return as per the interim rate announcement of the government, and from April 1, 2008 to 2009, we have used 10.5 percent as per our application here.

Similarly, below that, we have depreciation of the asset retirement costs, and, again, for Pickering, Darlington and Bruce they are embedded in the depreciation lines referenced in the second column there.

Next comes used fuel storage and disposal provisions.  Those are explicitly identified elsewhere in the evidence, and then low level and intermediate level waste provisions associated with Pickering and Darlington and Bruce, which are part of depreciation, and they are embedded in numbers elsewhere in the evidence.

MR. PENNY:  Just stopping at that line, total revenue requirement, am I interpreting this right that the columns under Q2 to Q4, 2008 and 2009, on the right-hand side, correspond with the numbers that you have used as the opening numbers for Exhibit K7.1?

MR. LONG:  Yes, that's correct.  The 310 million for the last three quarters of 2008 and 394 million associated with 2009.

MR. PENNY:  Right.

MR. LONG:  Now, below that, we have also shown the cash requirements for satisfying these obligations.

I mentioned earlier that the ONFA fund contributions tends to front-end load the funding of the obligations, and you can see here two components.  One is the ONFA fund contributions, which currently are $454 million a year, and that will be the case for all of 2008, and then dropping in 2009 to $350 million.  This is all, of course, associated with the prescriptions within ONFA.

Below that, there is an internal funding piece.  The ONFA agreement and the liability that's being funded by the ONFA funds is for liability that occurs after each of the stations have shut down, but there is a liability that occurs prior to that associated with the -- essentially the storage and management of used fuel and low and intermediate level waste, while the stations are continuing to operation.  And that is funded through internal cash flows.

It is included in the overall asset retirement obligation that I talked about earlier, but it is funded separately.

So you can see here total funding amounts, again, over the test period, which are substantially higher than the revenue requirement included in our application.  This was also an observation made by CIBC in their report.

Just one further comment on the return on equity component here, and this relates, Mr. Rupert, to some discussion that we had this morning, something that I should have made clear.

You know, not only do we believe that the return is a legitimate cost associated with Bruce, but a substantial part of it is, in fact, associated with the ARC and the recovery of amounts to discharge the nuclear liability associated with Bruce.

So it is certainly not all profit, if you want to put it, but a substantial piece of it is, in fact, to do with that long-term liability.  So I think it would be entirely inappropriate to exclude all of that from costs for purposes of defining costs associated with Bruce.

MR. PENNY:  Just one final question, Mr. Long, just so we're absolutely clear about what this last entry -- the cash requirements, in my lay terms, is that what -- those numbers of 429 million and 450 million, is that what OPG is actually going to be laying out in those years?

MR. LONG:  Exactly.

MR. PENNY:  All right.  Thank you.

All right.  Thank you, Mr. Chairman.  Those are my questions in examination-in-chief.

MR. RUPERT:  Mr. Long, can I just ask a numbers clarification before the cross-examinations begin?

Exhibit K7.1, which lays out the three methods, is there somewhere on the paper that we have been given or elsewhere in the evidence where two lines are blown up?  Those two lines are this:  Under the flow-through method, the first line, exclude asset retirement costs from rate base, which shows $148 million for 2008 and $186.3 for 2009.

Are the calculations of those amounts somewhere in the package of material?

MR. LONG:  Yes.  If you go to the exhibit I just talked to, H1, tab 1, schedule 3.

MR. RUPERT:  Okay, I see those two up there.  Yes.

MR. LONG:  If you go down under deemed -- there is a subtitle under "Deemed interest and return on equity cost of capital" line.  It has the 148 and 186, and those are the numbers referred to there in Exhibit K7.1.

MR. RUPERT:  The other line is -- under option 2, is the second line under option 2 on Exhibit K7.1, which is "exclude unfunded liability from rate base return", and the 78.3 and the 75.1.  Do I also see those numbers?

MR. LONG:  No.  That's been a calculation that's been specifically done for purposes of undertaking J1.3.

But, I mean, it can be -- you know, it is derived from the average nuclear liability above, applying our proposed capital structure and cost of capital.

MR. RUPERT:  It would be helpful -- you don't have to do it today, but just as we go through this thing in the hearing - it's probably a calculation you have done already - just to file or supplement Exhibit K7.1 with the actual calculation of that line.  That would be useful I think at some point.

MR. PENNY:  Yes, we can do that.  We will file it perhaps as a supplement to Exhibit K7.1.

MR. RUPERT:  Thanks.

MR. BATTISTA:  That will be undertaking J7.1.
UNDERTAKING NO. J7.1:  SUPPLEMENT EXHIBIT K7.1 WITH ACTUAL CALCULATIONS.

MR. KAISER:  Mr. Rodger.

MR. RODGER:  Mr. Chairman, Mr. Thompson would like to take the lead on this panel.

MR. KAISER:  All right.  Mr. Thompson.
Cross-examination by Mr. Thompson:


MR. THOMPSON:  I am not so sure I would like to take the lead, but I have been asked to take the lead.

If I could just pick up on one point, panel, with respect to Exhibit H1, tab 1, schedule 3, where you're talking about cash requirements down in the bottom right-hand corner for 2008 and 2009?

MR. LONG:  Yes.

MR. THOMPSON:  What I wanted to understand is -- I think what you will also need are your financial statements, which -- for 2007, Exhibit A2, tab 1, schedule 1, appendix A.

I wanted to take you to page 30.  I guess this is your annual report, really.

MR. LONG:  Is it the bound copy of the annual report?

MR. THOMPSON:  No.  It's out of the file.

MR. LONG:  Okay.  We have that.

MR. THOMPSON:  You have that?  Thanks.

If you go to page 30 and the third paragraph, it says required funding for 2007 under the ONFA was $454 million.

MR. RUPERT:  Mr. Thompson, I am looking at a different version.  What is the heading?  Is it in the financial statements or the --

MR. THOMPSON:  It's in the section Note 10, fixed assets.

MR. RUPERT:  Note 10, okay.

MR. THOMPSON:  Nuclear waste management, and then it's under the topic heading "Ontario Nuclear Funds Agreement."

MR. RUPERT:  Yes, I have that.  Thanks.

MR. THOMPSON:  I have it as the fourth paragraph.

MR. RUPERT:  Right.

MR. THOMPSON:  It is talking, witness panel, about a one-time contribution of $334 million to the used fuel fund.  This payment apparently constitutes, it says, a triggering event under the Ontario Nuclear Funds Agreement which results in a need to update the amended payment schedule.

We are told that that update is in progress, and I thought we were told somewhere it is to be expected sometime this year.

Can you just fill us in on where that update stands?

MR. LONG:  I think the update is in with the province, and they've got back to us with an approved revision to the schedule to take into account the 344.

MR. THOMPSON:  All right.  So the numbers that you are showing here under cash payments, ONFA funds contribution, do they reflect the updated schedule?

MR. LONG:  No.  They reflected the previous contribution schedule.  We have only just heard from the province on this.

So the impact of that change would be relatively small.  The 2008 is unchanged and 2009 would be reduced.  Instead of 350, it would be about 330 or just over 330.

MR. CASTELLAN:  It's 339, Fred.

MR. LONG:  339, sorry.

MR. THOMPSON:  Why does 2008 remain unchanged?

MR. LONG:  As I mentioned earlier, there are certain rules within ONFA regarding reductions in contributions from previously-determined levels, and there is a tendency to front-end load.

Certain thresholds of funding have to be met before changes can be made, even if they appear to be warranted, because of changes in cost estimates or service lives of facilities.  So that is the reason it doesn't show up in 2008, but does show up in 2009.

MR. THOMPSON:  All right.  Do you have to keep making these payments even if these funds are over-funded?

MR. LONG:  No.  The whole idea is to have sufficient money in the fund to meet the obligation, and the funding schedules are designed to provide that amount and hopefully no more.

So if, in fact, we were over-funded, if the returns on the funds were sufficient to bring us to that point, we would then no longer have to make any contributions.

MR. THOMPSON:  Okay.  Well, just on that point, if you would go to page 31 of what I call the financial statements -- I am not quite sure.

Is this the annual report or is it financial statements, or both?

MR. LONG:  The financial statements and the associated MD&A are included in the annual report. 

MR. THOMPSON:  In any event, under decommissioning fund, as of December 31, 2007, we're told it was over-funded.  You will see that down in the fifth paragraph of the report.

What does that mean?

MR. LONG:  As I mentioned earlier, when ONFA was put in place, the liability that's supposed to be satisfied from the decommissioning fund, which includes decommissioning of facilities plus the management of low and intermediate level waste, was fully funded.

So -- and that was, you know, at a point in time, and earnings on the fund, together with changes in the liability, are such that, you know, it may become over-funded at times.  At the end of the year, it was in a slightly over-funded position.

I can tell you now, with what's happened in the markets, that that's now changed.

MR. THOMPSON:  Okay.  So it was over-funded as of December 31, 2007.  I am reading this report properly, am I?

MR. CASTELLAN:  That would be December 31st, 2006 it was in an over-fund.

MR. THOMPSON:  It says in the paragraph at December 31, 2007.


MR. CASTELLAN:  I have a different report.  I'm sorry.


MR. THOMPSON:  Decommissioning funds asset value on a fair value basis was 5.057 million, which continued to exceed the value of the liability.  As a result of the over-funded status, there's a $3 million amount due reflected to the government.


MR. CASTELLAN:  That's correct.


MR. THOMPSON:  So it is over-funded as of that point in time?


MR. LONG:  That's correct.


MR. THOMPSON:  Isn't the other fund over-funded at that point in time, as well?


MR. LONG:  No.  Under ONFA, the used fuel liability - in particular, the used fuel fund - has a guaranteed rate of return by the province of 3.25 percent plus CPI.


So by definition, it can never be over-funded or underfunded, because it will always be a due to or due from the province.


In the case of the decommissioning fund, OPG is fully responsible for the return achieved on that fund.  So it could be over-funded or underfunded, depending on the return.


MR. THOMPSON:  All right.  Well, just looking at the used fuel fund on page 32, in the financials it is showing, to me, as at that point in time, being in an over-funded position, because there's a due to the province of an amount of $511 million.


MR. LONG:  It is not over-funded.  Currently, the used fuel fund is about 70 percent funded.


Because the province guarantees the rate of return, if the return exceeds that target, that excess return is -- accrues to the province.  They haven't actually taken it out of the fund.  It is left there and that's why there is a due to the province.


MR. THOMPSON:  OPG is only responsible for 70 percent -- or only responsible for a portion of this fund; is that right?


MR. LONG:  No, that's not correct.


MR. THOMPSON:  It's a government-guaranteed fund?


MR. LONG:  They have guaranteed a rate of return on the fund of 3.25 percent plus CPI, but OPG is fully responsible for satisfying the liability unless it reaches some much higher thresholds as defined in ONFA.


MR. THOMPSON:  Okay.  So what conditions would need to exist for OPG to say, We don't need to pay any more into the fund?


MR. LONG:  The fund would need to be 100 percent funded.


MR. THOMPSON:  So we would have to make up this 30 percent difference; is that right?


MR. LONG:  Which is why we're putting in the $454 million per year.


MR. THOMPSON:  All right.  Now, in terms of your presentation here, you are not showing, in this document at page 1, tab 1, schedule 3, in the years 2005, 2006, 2007 or in the subsequent years, the income you are going to earn on the fund?


MR. LONG:  That's correct.  That is not shown on this table.


MR. THOMPSON:  Am I correct that to the extent the income that's earned on the funds exceeds the accretion calculation, then you are in a fully funded situation?


MR. LONG:  No.  The earnings on the fund and the accretion are a period number.  They just reflect, you know, say, for a given year, the increase in the liability due to the time value of money, versus the earnings on the fund for that year.


That doesn't have to bear any relationship to the degree of fully-fundedness, if you will, that we have.


MR. THOMPSON:  All right.  So you are fully funded, then, when the capital amount of the fund equals the total amount of the liability?


MR. LONG:  That's correct.  And a present -- in present value terms.


MR. THOMPSON:  In PV terms, okay.  Now, just another sort of introductory question here, in terms of this information.


For this, you will need to turn up AMPCO 55, which has the -- this asked you to segregate nuclear rate base and carve out the fixed asset component attributable to nuclear decommissioning and waste disposal amounts, and if you could have beside you there this other exhibit, H1, tab 1, schedule 3.


Do you have those documents, sir?


MR. LONG:  Yes, I do.


MR. THOMPSON:  Okay.  In your response to AMPCO, when you did this segregation, the nuclear decommissioning and waste disposal amounts you showed in the document were about $1.369 billion down in the - I am talking 2007 - middle column, at the bottom.


That, I take it, is the NPV of ARC for Pickering and Darlington that shows up in line 2 actual for 2007 in H1, tab 1, schedule 3?


MR. LONG:  That's correct.


MR. THOMPSON:  Okay.  Now, in this response to AMPCO, you didn't have Bruce separated out, but you now have Bruce in this document of $1.159 billion.


My question is:  Is Bruce in the gross plant at cost in line 1?


MR. LONG:  No.  This attachment, which is, I guess, essentially an update to table 2 in Exhibit B1-T1-S1, only deals with the prescribed nuclear facilities, i.e., Pickering and Bruce.  It is only those facilities that are in rate base.


MR. THOMPSON:  Okay.  So why have you included Bruce in this Exhibit H1, tab 1, schedule 3?


MR. LONG:  Because in the -- in our application, we have included Bruce costs offset by Bruce revenues as part of the nuclear revenue requirement.


So included in the total nuclear revenue requirement, if you will, are the nuclear liability impacts associated with Pickering and Darlington, as well as those associated with Bruce.


Even though Bruce is not in the rate base, we have given it, as I said earlier, equivalent to rate base treatment, and its components are shown here, because they impact on the revenue requirement.


MR. THOMPSON:  All right.  Well, I will follow up on that in a moment.


Could I ask you to undertake to split this out between Bruce separately and the prescribed assets, "this" being --


MR. PENNY:  Sorry, what is "this"?


MR. THOMPSON:  H1, tab 1, schedule 3.


MR. LONG:  It is broken out --


MR. PENNY:  It is broken out.


MR. LONG:  -- between prescribed assets and Bruce.  Each of the line items there contains two components, Pickering and Darlington separated from Bruce.


MR. THOMPSON:  Okay, I take your point.  I can piece it together myself.


Okay, I will come back to those numbers in a moment.


Just in terms of understanding the context here, I have sort of a few introductory topics.  The first one is the legal obligation to discharge the fixed asset removal and nuclear waste management liabilities.  I just wanted to make sure we understand where that comes from.


Are we correct that federal legislation requires these obligations?  My notes are Nuclear Waste Management Act and Canadian Nuclear Safety Act.  Is that part of the context?


MR. LONG:  Yes.  I think, you know, included in the exhibit, context is given.  The Nuclear Fuel Waste Act is one context.  Our obligations under the Nuclear Safety Control Act, you know, is another context.


MR. THOMPSON:  The provisions of the licences you hold from these federal agencies, do they have an obligation spelled out in there to discharge these liabilities?


MR. LONG:  I am not really fully conversant with what is and is not in our licence.  The only other thing that I am aware of that relates to this in the licence is the requirement to provide a financial guarantee associated with the nuclear liabilities.  But beyond that, I can't help you.


MR. THOMPSON:  All right.


In terms of the legal obligation to fund these liabilities, can you help me with the context that gives rise to that?


MR. LONG:  The Nuclear Fuel Waste Act requires us to set up a trust for some of the long-term used fuel management liability, particularly costs that would occur sort of post construction licence for whatever facility is going to be used.


The other context for that is the Ontario Nuclear Funds Agreement, which is an agreement between OPG and the Province of Ontario that requires us to fund the total used fuel and decommissioning liability, as I described.


MR. THOMPSON:  And that agreement, is it fair to characterize that as an agreement OPG made with the seller of the assets to it?  In other words, the seller was concerned about the -- its exposure to these liabilities and made this deal that you would pick them up eventually through a funding agreement; is that the conceptual rationale for the agreement?


MR. LONG:  At the time of restructuring of Ontario Hydro, this agreement was contemplated and certain elements of it were taken into account in that restructuring.


There were sort of three key objectives to be met by that, and that's laid out in the evidence in H1.


MR. THOMPSON:  They were, just briefly, the objectives?


MR. LONG:  Well, if I can take you to page 5, the three objectives that I was referring to was -- the first is to establish the two segregated funds.  That's really to ensure that the monies are going to be available, when needed, to satisfy the liability.


The second -- I will skip over 2 and I will just move to 3.


The second was to limit OPG's financial exposure to used fuel management, because that's something that it was felt a commercial entity could not face.  In fact, other commercial entities around the world did not face the used fuel liability.


And the third was to provide the wherewithal for the province to provide the financial guarantee to the CNSC, which, as I mentioned, is I think part of OPG's licence conditions.


MR. THOMPSON:  All right.  So is OPG's financial exposure to used fuel management capped, legally?


MR. LONG:  Under ONFA, I had mentioned earlier that the return on the fund is guaranteed.  That's certainly one element, but there is a capping.  We are a long, long way from it right now.


At the time ONFA was put in place -- well, in fact, the time OPG was restructured, the estimated used fuel liability and present value in '99 was 3.7 million (sic).


Under ONFA, any increase up to 4.6 billion was fully the responsibility of OPG between 4.6 and 6.6 billion.  It is 50/50 between the province and OPG, and between 6.6 billion and 10 billion it is 90/10, the province and OPG.  Above 10 billion, it is all the province.


So our liability -- if you add up all of those numbers and probabilities, our liability in 1999 dollars, present value dollars, was $5.9 billion on a liability which was and is still, I think, roughly currently estimated at $3.7 billion.


MR. THOMPSON:  Okay.  The evidence at the next page seems to suggest that you pay the province for -- a fee for this guarantee, but that it is expected that fee won't be needed within a few -- beyond 2010.  Am I reading that correctly?


MR. LONG:  That's correct.


MR. THOMPSON:  So does that mean full funding?


MR. LONG:  No.  The fee is paid on the difference between what's in the funds and what the liability is as per the prescription for the CNSC.  We use slightly different assumptions there.  For ONFA, we essentially do not take into account any possible refurbishment of stations until it actually occurs in terms of establishing station lives; whereas for the CNSC, we use -- for stations that might be refurbished, we use a nominal 40-year life to reflect the fact that probably some will and some won't be refurbished.


So the prescriptions are slightly different.  So the net effect is the present value liability, for purposes of the guarantee, is slightly lower than the ONFA estimate.


MR. THOMPSON:  Okay.  Thanks.  I want to turn just briefly, if I could, to the liability amounts.


You have indicated that the liability amounts are based on present value calculations.  I think you will find that described in the financial statements.  It's at my page 28 under note 10.


After the section that lists the liabilities, there are two paragraphs that deal with the present value issue.  The first one describes the fixed asset removal and nuclear waste management liabilities as follows:

"OPG's fixed asset removal and nuclear waste management liabilities are comprised of expected costs to be incurred up to and beyond termination of operations and the closure of nuclear and fossil fuel generating plant facilities."


It goes on to describe the --


MR. LONG:  Sorry, Mr. Thompson, could you give us the reference for that?  We're having some difficulty.


MR. THOMPSON:  I am at page 28 of the document that I took out of the application materials, at the first paragraph on the page.


MR. RUPERT:  I think it is page 94 of your 2007 annual report.


MR. LONG:  Oh, that will help.


MR. THOMPSON:  I was reading the first paragraph, which describes in the second sentence the types of activities that are costed.


Then it goes on, in the following paragraph, to say:

"The following costs are recognized as a liability." 


And there are three bullet points.  The first: 

"The present value of the costs of dismantling the nuclear and fossil fuel production facilities at the end of their useful lives."


Just stopping there, that is what we're calling decommissioning costs, are we?


MR. CASTELLAN:  Correct.


MR. THOMPSON:  Okay.  Then the next is:

"The present value of the fixed costs portion of any nuclear waste management programs that are required based on the total volume of waste expected to be generated over the assumed life of the stations."


Another one:

"The present value of the variable cost portion of any nuclear waste management program taking into account actual waste volumes generated to date."


My understanding, those two bullet points cover both the used fuel, and then the intermediate and low waste management -- I forget what it is called.  Something like that.  It has a acronym.


MR. CASTELLAN:  Correct.


MR. THOMPSON:  All right.


The calculations of the liability, if I understand the evidence correctly, are based on a reference plan?


MR. CASTELLAN:  Correct.


MR. THOMPSON:  And that's prepared by -- is it prepared by third party consultants, or does OPG prepare that?  Who prepares that?


MR. CASTELLAN:  The actual reference plan is prepared by OPG, with approval by the province.


MR. THOMPSON:  Okay.  The statements described in the -- three paragraphs down from the one I was just reading from, the 2006 approved reference plan estimating the undiscounted amount of estimated future cash flows associated with the liabilities at $24 billion?


MR. CASTELLAN:  Correct.


MR. THOMPSON:  Okay.  So is that what you end up with when you have one of these reference plans done?  It's one big number that you then use to determine the present value of the liabilities?


MR. CASTELLAN:  Correct.


MR. THOMPSON:  And the information suggests that these reference plans are done every five years, or sooner if there's some triggering, materially -- material change, I think, clause is described.  Is that right?


MR. CASTELLAN:  The intent is to do them every five years, correct.


MR. THOMPSON:  So was the last one done in 2001?


MR. CASTELLAN:  That's why I said the intent.  The last reference plan was done in 1999.


This one was done at the end of 2006.  The province did approve at the end of 2006.  From here on in, as prescribed by the ONFA agreement, they need to be done every five years.


MR. THOMPSON:  What was the total undiscounted amount of liabilities under the prior plan, ballpark?


MR. CASTELLAN:  About $20 billion, 20-1/2-billion dollars.


Now, we did a reference plan in 19 -- an ONFA reference plan in 1999.  We did change our base in 2003 to reflect what was a significant change in assumptions.  It didn't, you know, get ONFA approval.  But for our purposes, there were some changes in assumptions in 2003 that lends 

-- that gives rise to this 20-1/2-billion-dollar number, and with our recent changes it is now $24 billion.


MR. THOMPSON:  What is the 2003 number?


MR. CASTELLAN:  The 2003 was 20-1/2-billion dollars.


MR. THOMPSON:  20.5, okay.


This Bruce $334 million payment, does that trigger a new reference plan?  It triggers -- obviously has triggered adjustments to the payment schedule, but does it trigger a reference plan?


MR. LONG:  It is a triggering event, but we only just updated the reference plan.  So the only thing that changed as a result of that was the payment schedule.


MR. THOMPSON:  All right.  Big picture, it is $24 billion in undiscounted liabilities.


All right.  Then when we go through the discounting, then, I wanted to just look at the -- state value of the liabilities.


I believe you have provided an undertaking response to Mr. Rupert.  It's J1.5.  This, as I understand it, breaks down the liabilities as they appear in the financial statements for the company as a whole between Pickering/Darlington in one column, Bruce total nuclear, non-nuclear, total OPG.


Do you have that document, panel?


MR. LONG:  Yes, I have it.


MR. THOMPSON:  And so we see the nuclear liabilities - I am looking at column 3 - total as of 2005, $8.567 billion, and then as of 2006, $10.328 billion.  Have I got that correctly?


MR. CASTELLAN:  That's correct.


MR. LONG:  That's correct.


MR. BRYDON:  Yes.


MR. THOMPSON:  And the jump 2005 to 2006, I believe, is primarily attributable to the new reference plan; is that correct?


MR. CASTELLAN:  Yes.


MR. THOMPSON:  And the ARO adjustment that you are showing in this line of $1.386 billion, was that the result of the increase in liabilities triggered by the new reference plan?


MR. CASTELLAN:  Correct.


MR. THOMPSON:  I guess the increase in the present value of the liabilities?


MR. CASTELLAN:  If I may, there were four factors that contributed to that increase for the adjustment.  Okay.


In the new reference plan, both Pickering A return to service and Bruce A refurbishment allowed those stations to be extended.  So the effect there was that they are creating more waste, but there was also a counterbalancing effect that their dismantling, their decommissioning doesn't happen until into the future.  So there was a counterbalance there.


There is another factor that had to do with American experience.  We do use an excellent consultant that has vast experience in the States, and when this consultant came and recalculated our decommissioning estimates, there was a positive effect as a result to what has been experienced in the States.


The other factor had to do with the use of the discount rate, where the 5.75 percent applied to the original liability and there is a 4.6 percent that applied to the 1.386 that also had an upward pressure on the asset retirement obligation.


MR. THOMPSON:  Okay, thanks for that.


Now, we see from this exhibit - that's Exhibit J1.5 - that the nuclear liabilities are increasing from 2007 to 2008 and 2008 to 2009 by about $500 million, 2008 over 2007, and $400 million, give or take -- 470 million, perhaps, 2009 over 2008.


What's the explanation for the increase in liabilities?


MR. LONG:  I think the answer is right there on the table.  It is the accretion.  It is taking into account the time value of money, because the asset retirement obligation is a present value number.


So as you go from year to year, you have to account for that time value of money, and that's done through the accretion expense.  There is no change in the underlying liability.


As you can see here, there is three components:  Accretion; the variable expense, that's the waste that is generated in that particular year; and then offset by any discharge of the liability through the costs incurred.


MR. THOMPSON:  All right.  So the accretion gets posted to the liability side of the ledger, and then the monies earned on the fund, where do they get -- they show up in the financial statements?


MR. LONG:  Both the accretion and the fund earnings can be found in the income statement.


On the balance sheet, the accretion adds to the ARO that's on the liability side of the balance sheet, and the seg fund earnings to add to the level of funds on the asset side of the balance sheet.


MR. THOMPSON:  Okay.  Just then looking to that topic, the asset side of the balance sheet, if you look at the -- we don't have that in J1.5, but we have some of it in the financials.  If you look at page 33 of the financials, we see the funds situation as at December 31, 2007 and 2006, am I right, on a fair market value basis in the two columns shown there?


MR. LONG:  You are looking at the balance sheet?


MR. THOMPSON:  I am looking at -- well, it's in the notes.  It's part of note 10.  It's under the paragraph "Amortized cost and fair value of the securities invested in the nuclear fund."


The fund amount for 2007 is shown as $9.263 billion?


MR. LONG:  Yes.


MR. THOMPSON:  For 2006, it is $8.113 billion?


MR. LONG:  That's correct.


MR. THOMPSON:  And the liabilities shown at the beginning of note 10, $10.957 billion for 2007 and $10.520 billion for 2006?


MR. LONG:  Those are the asset retirement obligations, yes.


MR. THOMPSON:  Right.  And the spread, if you will, between the two, in 2006 it was about $2.4 billion, and by 2007 it is down to $1.7 billion.  In other words, the spread is narrow?


MR. LONG:  As the liability gets funded, the spread would narrow, in the absence of any further adjustments to the level of the liability.


MR. THOMPSON:  So despite the fact that the liability is growing according to J1.5, if you would turn up Exhibit J1.3, the spread, which is really the unfunded liability, continues to narrow in 2008 and 2009.


It's down from 1.7 billion in 2007 to about 1.2 billion in 2008, and in 2009 it is down to about 0.9 billion; is that right?


MR. LONG:  That's correct.


MR. THOMPSON:  So when the spread disappears, are we fully funded?


MR. LONG:  Not necessarily.


MR. THOMPSON:  It must be close.


MR. LONG:  As I mentioned earlier, the ONFA funds are designed to satisfy the liability post shutdown of the stations.


It doesn't deal with the cost of satisfying the liability while they are operating, particularly the storage of used fuel and low and intermediate level waste.  However, that liability is included in the ARO.


 Secondly, the ARO is what's known as a currently-committed liability, as I mentioned earlier.  This is the liability that is accrued to date.  It doesn't take into account the cost of managing future waste arising; whereas the ONFA funds are designed to fund the full lifetime liabilities.


So there is a bit of a mismatch between, you know, what the fund is expected to cover and what the ARO is.


So you need to be careful in terms of whether it is fully funded or not.


Once the ONFA obligation is fully funded, we will still have to make -- we still have to take some of our operating cash flow to satisfy some of the ARO, because that has to do with liability prior to station shutdown.


MR. THOMPSON:  Okay.  But is the unfunded -- well, sorry.


The phrase "ARO", that's asset retirement obligation?


MR. LONG:  That's correct.


MR. THOMPSON:  Which to me is the total liability, less something.


MR. LONG:  It's the total liability accrued to date.


MR. THOMPSON:  Okay.


MR. LONG:  So if you were to shut down the stations today, that would be the present value of the liability.


MR. THOMPSON:  All right.  So the forecast for that amount on the liability side is $11.207 billion, based on J1.5, for December 31, 2008?


MR. LONG:  Can you give me that number again, sorry?


MR. THOMPSON:  Yes.  J1.5, column 3, forecast liabilities ending 2008, 11.207 billion.


MR. LONG:  Yes.  


MR. THOMPSON:  Based on the average unfunded nuclear liability amount in J1.3 for 2008 of 1.231 billion, the forecast, if you will, fund would be 11.2 minus 1.2, roughly 10 billion?


MR. LONG:  Yes.  I don't have the forecast of the fund with me, but that seems to be -- what is shown on -- in J1.5 is a year-end number, whereas the -- what is shown as the unfunded nuclear liability in J1.3 is actually an average.


So you would have to have the year end -- the equivalent year end number to do the arithmetic.


MR. THOMPSON:  Let's assume it is year end for the purpose of my question.  That would make the fund amount about 10 billion; right?


MR. LONG:  If I subtract 1.2 from 11.2, yes, around 10 billion.


MR. THOMPSON:  Is the 1.2 billion difference, the unfunded amount, equivalent to the ARO, big picture?


MR. LONG:  Sorry.  The ARO is the 11.2.  That's the size of the liability.


If I take your number, at that point in time the fund is about 10 billion, and there is a difference of 1.2 between them.


MR. THOMPSON:  All right.  So the unfunded liability and -- the ARO is the whole number and the unfunded liability is the difference between the whole number --


MR. LONG:  -- the fund level and the ARO.


MR. THOMPSON:  All right.  Thanks.


Okay, let's move then from those numbers, if we could, to the financial statement presentation for the corporation as a whole of this nuclear liability obligation.


We are told in AMPCO 58 - that's Exhibit L, tab 2, schedule 58 - that the financial statement presentation is on what's been characterized here as a flow-through approach.  The first sentence in this response reads:

"OPG assumes that treating the nuclear liability as a flow through means giving them the treatment included in OPG's financial accounts."


Does that mean the treatment expressed in EGD's financial statements?


MR. PENNY:  I think you meant OPG.


MR. THOMPSON:  Sorry.  OPG?


MS. CAMPBELL:  You said EGD.  Deja vu.


MR. THOMPSON:  Thirty-five years of brainwashing, what can I say.


[Laughter]


MR. LONG:  The question asked what the impact would be under a flow-through approach, so we had to interpret that first.


So the interpretation is described there.  And that's really, then, the -- really looking towards our income statement, where, as I mentioned earlier, we see the two items, accretion and seg fund earnings, and rather than a return on the ARC component of rate base.


So that was our interpretation of what this was.


MR. THOMPSON:  But do I understand correctly that in the financial statement approach, what you do is charge the accretion amount as an expense and credit the interest on the fund in the income statement, as well?


MR. LONG:  That's correct.


MR. THOMPSON:  So the net, if you will, expense in the financial statements attributable to nuclear liabilities is the difference between the two?


MR. LONG:  That's only one component.


If I could take you back to Exhibit H1, tab 1, schedule 3 that I talked to earlier, there are a number of components of the revenue requirement that is in our submission.


What L-2-58 is dealing with is, essentially, making a substitution for the deemed interest and return on equity component that's shown in H1, tab 1, schedule 3.  It's not dealing with the other items that are shown there, depreciation, and the used fuel storage provision and low and intermediate level waste provisions.


Those are assumed to stay the same under the approach that we've assumed in L-2-58.


MR. THOMPSON:  Okay.  Well, let me just try and piece this together, if I might.


With respect to -- sorry.  In L-2-58, the accretion costs of 450.7, 624.0 relate to Pickering, Darlington and Bruce.  Am I right?


MR. LONG:  That's correct.


MR. THOMPSON:  So if I wanted to have those accretion costs attributable to Pickering and Darlington only, how do I do that?  Is that decipherable from your H1, tab 1, schedule 3?


MR. LONG:  No.  The accretion is not a factor in H1, tab 1, schedule 3, at all.


MR. RUPERT:  Mr. Thompson, I think you referred to an earlier exhibit.  That may be the one you're looking for, which is J1.5.


MR. THOMPSON:  Oh, yes.  Sorry.  Yes, okay.


So the accretion costs with respect to Pickering and Darlington, as Mr. Rupert points out, are in the -- are in J1.5?


MR. LONG:  So are the accretion costs associated with the liability associated with Bruce.  


MR. THOMPSON:  Yes, okay.  I got you.


Now, in terms of the segregated fund earnings with respect to the Pickering, Darlington and Bruce separated, is that anywhere in the record, panel?  Can you help me?


MR. LONG:  Sorry, the segregated fund earnings for which year?


MR. THOMPSON:  For 2008 and 2009.  I am trying to get the breakdown in AMPCO 58 between Pickering and Darlington, one case, and Bruce the other case.


MR. LONG:  That split is not in the evidence anywhere, as far as I am aware.


MR. THOMPSON:  Could someone undertake to split those numbers out for me, segregated funds earnings of 362.2, 525.9 between, on the one hand, Pickering/Darlington and on the other hand Bruce?


MR. LONG:  We don't maintain separate funds for those facilities.


MR. THOMPSON:  Well, could you do it on some reasonable basis of allocation so it marries up with what's in on the liability side in J1.5?


MR. LONG:  Sorry, J1.5 does not split out -- sorry, yes, it does.  Yes.


We can attempt to do it on a reasonable basis.


MR. BATTISTA:  That will be characterized as undertaking J7.2.

UNDERTAKING NO. J7.2:  TO SEPARATE SEGREGATED FUND EARNINGS WITH RESPECT TO PICKERING AND DARLINGTON FOR 2008 AND 2009.


MR. THOMPSON:  Let's try and do this, and I will do them combined so we can stick with Exhibit L, tab 2, schedule 58.


So the difference -- well, let me tell you what I read into AMPCO 58.


What you are showing in line 1 is the amount you take out from your rate base presentation to reflect the flow-through or financial statement methodology; am I right?


It says exclude asset retirement costs from rate base.  I think you mean exclude return on asset retirement costs from rate base; is that right?


MR. LONG:  Yes, that's correct.  And that's -- that number you can see in H1, tab 1, schedule 3, where there's a line there that says "cost of capital", and that's -- you can see the 148 and the 186.


MR. THOMPSON:  Where do I see that, sir?


MR. LONG:  H1, tab 1, schedule 3.


MR. THOMPSON:  All right, got you.  Three, yes.


MR. LONG:  About halfway down, you will see a "cost of capital" line.


MR. THOMPSON:  Yes, I got you.  I picked them up now.  Thanks.  So the total 334 is over in the right-hand side?


MR. LONG:  That's correct.


MR. THOMPSON:  Okay, thanks.


So if I just stopped there, what you're saying, that comes out under the financial statement presentation, and the other two items go in, accretion costs less segregated fund earnings.


And the difference between the accretion cost and the segregated fund earnings, that's the 107.4.  The 888.1 is about 186 million -- $186.6 million.  Would you take that subject to check?


MR. LONG:  Subject to check.


MR. THOMPSON:  Okay.  So what this exhibit was telling me is rather than recovering from ratepayers $334 million, if we went with the financial statement approach, you would be recovering from ratepayers $186.6 million.


Just stopping there, is that right?  I appreciate what you're telling me is there's some depreciation numbers that have to be added to this.


MR. LONG:  The difference between these two calculations is the $148 million, as you quoted.


All we have done here is looked at the items that appear in the income statement.  The return on rate base doesn't, but the accretion and segregated fund earnings does.  So we substituted one for the other.


For the reasons I have given earlier, we don't believe that is an appropriate basis for establishing the revenue requirement.


MR. THOMPSON:  I understand you disagree with this.  I am just trying to get the agreement on the numbers.


Under the flow-through approach, rather than 334.3 million being recovered for return, you would recover 186.6 million, being the difference between accretion and segregated fund earnings, if the Board adopted that approach?


MR. LONG:  I agree.


MR. THOMPSON:  Okay.  Then over and above that, whether it is the rate base approach or the flow-through approach, we have depreciation; am I right?


MR. LONG:  You have depreciation.  You have a fuel cost associated with used fuel, variable costs of used fuel, and it is actually two depreciation components, depreciation of the ARC plus the component associated with incremental low and intermediate waste.


MR. THOMPSON:  So looking at your H1, tab 1, schedule 3, and I am now looking at the lines below cost of 

capital --


MR. LONG:  Yes.


MR. THOMPSON:  -- for the 20-month period, 211, 84 and so on.  This includes Bruce.  Do those amounts get recovered from ratepayers under the flow-through approach?  Do all of them get recovered?  None of them?  Some of them?


MR. LONG:  The ones below cost of capital?


MR. THOMPSON:  Yes.


MR. LONG:  We have assumed -- again, we have had to interpret what the flow-through approach is meant to be, but because those items do appear in our -- as costs in our income statement, yes, we assumed that those would be part of the overall approach.


MR. THOMPSON:  And so the issue, then, is whether you should get $334 million or $186.6 million for this unfunded liability component?


MR. LONG:  That's your issue.


MR. THOMPSON:  Well, will you give me credit it is an issue?


[Laughter]


MR. LONG:  If you wish.


MR. THOMPSON:  That's the issue between us; correct?


MR. LONG:  Yes.


MR. THOMPSON:  And in terms, now, of option 2, I will wait to see what you produce for Mr. Rupert, but it is even worse than yours now, from a ratepayer perspective?


MR. LONG:  It results in a higher revenue requirement over the test period, yes.


MR. THOMPSON:  So I don't think we will be advocating that.  So does it come down to the flow-through versus rate base approach?


MR. LONG:  As I said, I think it does for you.


MR. THOMPSON:  I wanted to go into the rationale, Mr. Chairman.  It might be convenient if we broke now for lunch, if it's possible.


MR. RUPERT:  Before we break, Mr. Long, I wanted to clarify one number before we break for lunch on Exhibit H1, tab 1 schedule 1, table 3.  


Mr. Thompson was just referring to these numbers.  This is part-way down the page where there is the deemed interest, and then the return on equity lines.


MR. LONG:  Yes.


MR. RUPERT:  I guess because of the treatment the company is proposing with respect to income taxes, which is another panel coming up, the return on equity that you have shown here is just the 10-1/2 percent.


So in a normal case when we are looking at a revenue requirement for any regulated utility and you're looking at the revenue requirement impact on rate of return, you would normally gross up the rate of return for taxes, so a 10-1/2 percent return -- after-tax return on equity would become, say, roughly a 16 percent pretax return in order that you earn enough to pay the taxes associated with that and leave the company with 10-1/2. 


So I just wanted to check.  All of the numbers throughout this in all of these connected exhibits are all just based on a pure 10-1/2 percent return without any gross-up for tax?


MR. LONG:  That's correct.


MR. RUPERT:  Okay, thanks.


MR. KAISER:  We will take the lunch break at this point and come back in an hour.


--- Luncheon recess taken at 12:31 p.m. 


--- Upon resuming at 1:38 p.m. 


MR. KAISER:  Please be seated.

Ms. Campbell, did you want to deal with scheduling?
Procedural Matters:

MS. CAMPBELL:  Yes.  There has been a suggestion made by Mr. Penny on behalf of OPG that there be an alteration in the calling of some of the panels.  It went to all of the intervenors, and I thought it might be an appropriate time to deal with it before we start the afternoon.

MR. KAISER:  What's the plan, Mr. Penny?

MR. PENNY:  It was just a suggestion, Mr. Chairman, and the suggestion was that we just continue calling OPG witnesses until we got to the appointed hour for the cost of capital witnesses, which was essentially chosen arbitrarily, as I recall it, based on witness availability and the view that we ought to try and put all of the cost of capital witnesses together.

If that presents problems for the Board, then of course, we're in your hands, but I thought if we have -- it may turn out we don't have any extra time anyway, depending on how long people are going to be, but my thought was simply if we had a day, that we use it.

MR. KAISER:  Any comments? Mr. Rodger.

MR. RODGER:  Yes.  The one scheduling issue that I think Mr. Penny also sent out information on this morning was the idea that we change the order.  Maybe I have it wrong, but if there was a gap before, particularly, Ms. McShane testified, that we might include some of the later panels, variance deferral accounts and payment amounts, prior to hearing the cost of capital.

MR. PENNY:  That was what I was just alluding to.

MR. RODGER:  We would oppose that.  As you will appreciate, Mr. Chairman, the pace of the hearing has certainly gone faster than certainly AMPCO anticipated.  We are finding it a bit of a challenge keeping up and were, frankly, have been relying on the current schedule of panels in our preparation, so it would be very difficult now to try to jump ahead to do those latter panels prior to cost of capital.  So we would certainly prefer the current schedule as proposed remain. 


MR. KAISER:  Mr. Thompson, any views on this?

MR. THOMPSON:  I have no submissions.  Thanks.

MR. KAISER:  Mr. Warren.

MR. WARREN:  I agree with Mr. Rodger. 


MR. KAISER:  Anyone else?  Sorry?

MR. FAYE:  We would support Mr. Rodger on that.

MR. KAISER:  Ms. Campbell, do you have any views?

MS. CAMPBELL:  We support maintaining the schedule as it is currently in place; the order of the panels, in particular.

MR. KAISER:  We would ordinarily start on, what is it Monday or Tuesday, when is the next sitting day?

MS. CAMPBELL:  The next sitting date would be Monday and at the rate we're going, if we don't finish panel 8 today, we would finish it on Monday morning and then go to corporate and other operating costs, which is corporate OM&A, et cetera.

MR. KAISER:  Is that panel 9?

MS. CAMPBELL:  That is panel 9, and it was scheduled for Tuesday, but we are moving more quickly and so we would start that Monday.

MR. KAISER:  All right.  So it sounds like we're ahead of schedule, so we will plan on starting on Monday with panel 9.

MR. PENNY:  I take it that, and once we're done with them, we're done until after the cost of capital, and then we carry on with our other witnesses.

MR. KAISER:  Well, I think Mr. Rodger and the others were saying you want to stay with the current schedule.

MR. PENNY:  Sorry.  I think I am saying -- so just so I am clear, so we then wouldn't proceed with any other OPG specific panels, do the cost of capital piece, then pick up with the balance of the --

MR. KAISER:  Right.

MR. PENNY:  All right.  Thank you.

MR. KAISER:  Proceed on that basis, gentlemen.

MS. CAMPBELL:  Thank you.

MR. KAISER:  Mr. Thompson, I think you were examining.
Cross-examination by Mr. Thompson:

MR. THOMPSON:  Yes, thank you, Mr. Chairman.

Panel, I wanted to now just touch on a few of the impacts of your proposal versus sticking with what has been labelled the flow-through approach.

We understand that the impact from the ratepayers' perspective will be they will have to pay $147.6 million more under your proposal than they would under the flow-through approach.  That is correct, is it not?

MR. LONG:  That's as per L2-58, that's the difference between the two, our proposal and the flow-through approach.

MR. THOMPSON:  Thanks.  Now, in terms of the financial reporting of the nuclear liabilities, on a corporate basis, my understanding is that you will continue to report the transactions just as you do now.

You will have the accretion amount and the funds, return amount, as you described previously; is that correct?

MR. BRYDON:  That's correct.

MR. THOMPSON:  So from a corporate financial reporting perspective, whatever volatility of earnings comes out of that reporting approach versus your proposed approach, because you are going to be continuing to report on the same basis, there is no change in the volatility of profits being reported at the corporate level; correct?

MR. BRYDON:  That's correct.

MR. THOMPSON:  All right.

Now, let's move, then, to the impact of the 147.6 million on profit.

My understanding is that this money will show up as earnings in the corporate reports; is that correct?

MR. LONG:  Sorry.  Which monies?

MR. THOMPSON:  The $147.6 million.  It doesn't get allocated to any fund.  It shows up as additional profit.

MR. LONG:  The difference -- there will be a difference in revenue, I guess first of all, between the two -- that's where the difference would really begin.

MR. THOMPSON:  Correct.

MR. RODGER:  And you know, if you then start out with a difference in revenue, you are bound to end up with a difference in net income at the end of the day, if you just flow it through.

So it's a --

MR. THOMPSON:  All right.  So order of magnitude, assuming no taxes, the 147.6 million will flow through to the bottom line in the corporate earnings statement.

MR. LONG:  The difference between the two approaches would result in a net income difference before tax of 147 million.

MR. THOMPSON:  Okay.  Now, in terms of the impact of that additional profit on equity, I would like to look at two scenarios.

One is the prescribed asset equity, the deemed equity, and then another, which is the corporate book equity.

My understanding is -- and would you take, subject to check -- that the prescribed asset rate base is about 7.4 billion; that includes the nuclear and the hydroelectric.  I got that from the rate base exhibits.  It's a little more in 2008 and a little less in 2009.

Do you need a reference?  I can find one.

MR. LONG:  B1, I think.

MR. THOMPSON:  It's the rate base exhibit.  The table's in that first tab.  B1, tab 1, schedule 1, table 1 has it for hydroelectric 3.9 billion, roughly, in 2007, 3.89 billion in 2008.

Then the next page, table 2, has the nuclear, around 3.5 billion.  When we added these together in the earlier panel, we got a little more than the 7.4 billion in 2008, and a little bit less in 2009.

So I am just rounding it, big picture here, to about $7.4 billion of rate base, prescribed asset rate base.

MR. LONG:  Okay.

MR. THOMPSON:  Is that fair?  Are you comfortable with that number?

MR. LONG:  That's for prescribed assets, Pickering, Darlington and regulated hydroelectric.

MR. THOMPSON:  Right.  Just doing the math -- sorry.  You are asking for 57.5 percent equity ratio in this case, right?

MR. LONG:  That's correct.

MR. THOMPSON:  So the deemed equity of the prescribed rate base, I make it to be about 4.255 billion.  Would you take that subject to check?

MR. LONG:  Subject to check.

MR. THOMPSON:  Then expressing the 147 million as a percentage of the deemed equity of prescribed assets, I get 3.45 percent or 345 basis points.  Would you take that subject to check?


MR. LONG:  I will take it subject to check, but I don't think that is an appropriate calculation.  The 147 also includes the Bruce, so you would have to compare it to a rate base that included Bruce.


MR. THOMPSON:  Well, it is 147 million that is going to show.  You brought Bruce in for the purpose of your numbers.  But in terms of the math, $147 million translates into about 3.45 percent; would you accept that?


MR. LONG:  Of the prescribed...


MR. THOMPSON:  Of the 4.255, the equity component that you are proposing for prescribed assets.


MR. LONG:  Subject to check, I will take it, but I don't think it is an appropriate number.


MR. THOMPSON:  Well, we will come to -- let's come at it another way.


Your book equity for the entire corporation, and we can find that probably in your financial statements, but it also -- I am taking it as of 2007, but you will...


This is a CCC interrogatory, Exhibit L, tab 3, schedule 3.  If you could turn that up, this is some questions you were asked about actual returns on book equity.


If you go to page 2 of that document, it is showing average equity, book equity, in 2007 of about - let's round it - $6.3 billion?


MR. LONG:  We are just getting that exhibit.  This is L3-3, page 2?


MR. THOMPSON:  Page 2, yes.


MR. LONG:  We have that.


MR. THOMPSON:  Does that sound to you like it is in the ballpark?


MR. LONG:  Could you say that again, the number?


MR. THOMPSON:  From your knowledge of OPG's balance sheet, capital structure, does $6.3 billion of shareholders' equity sound about right for 2007?  I appreciate this is average equity, but I am just trying to get a ballpark number.


MR. LONG:  For the consolidated corporation, yes.


MR. THOMPSON:  Does that sound about right to you?  Do I have to go to the financial statements?


MR. LONG:  Subject to check with the financials, it sounds about right, yes.


MR. THOMPSON:  Okay.  If we express the $147 million that's going to go to the bottom line as a return on $6.8 billion of equity, would you take, subject to check, that it's about a 216 basis points?  It is over 200 basis points?


MR. LONG:  Although I think that 147 would need to be tax affected if you were to compare it to the book equity.


MR. THOMPSON:  We are told it is after-tax dollars.  Isn't it?  I thought you said --


MR. LONG:  What we were talking about was a difference in revenue associated with the two approaches.  So to the extent there is a difference in revenue, there's going to be a difference in taxes.


MR. THOMPSON:  But Mr. Rupert asked you if 147 was after tax and had been grossed up for tax; is that correct?


MR. LONG:  The ROE numbers that are built into that are -- the ROE is an after-tax ROE.


MR. THOMPSON:  Right.  So is the 147.  So I am dividing the 147 --


MR. LONG:  The 147 is a difference in revenue between the two approaches.  There will be a tax effect associated with that, I believe.


MR. THOMPSON:  Well, I think the 147, if you wanted to make it taxable, you would have to gross it up.  So the recovery from the ratepayers would be higher.  So you end up at the bottom line with 147.


Anyway, we can argue that, but the 147, mathematically expressed as a percentage of book equity, is over 200 basis points.  Would you take that subject to check?


MR. LONG:  I will take that subject to check.


MR. THOMPSON:  All right.  So that's exactly the way the corporation will report its equity earnings on the corporate -- at the corporate level, is it not?


They will report not whatever they're seeking, 10 percent or whatever the Board -- 8 percent.  They will report 200 basis points more; would you agree?


MR. LONG:  Our external financial reporting will always be done on a consolidated basis.


So to the extent that we get more or less revenue associated with our prescribed facilities, that will result in more or less net income and higher or less ROE.


MR. THOMPSON:  Okay.  Now, moving on, then, to some of the rationale for the flow-through method versus your proposal, would you agree with me that the flow-through method that my clients advocate, in effect, excludes what you call ARC from rate base, or excludes unfunded liabilities from the capital structure? 


Would you agree with me that's the effect of the flow-through method?


MR. LONG:  You mentioned two things there, excluding ARC and excluding unfunded nuclear liabilities, which -- I think the flow-through method, as I described it in my direct, was one that we interpreted as removing ARC from rate base for purposes of calculating the return and putting in accretion less seg fund. 


So it removes ARC from rate base for purposes of return.  It doesn't remove unfunded nuclear liabilities from the capital structure.


MR. THOMPSON:  All right.  Well, is the flow-through method, in your view, analogous to the regulatory treatment that this Board and others accord to deferred taxes?


MR. LONG:  I am not sure I see any -- any relevant comparison.


MR. THOMPSON:  All right.  Well, are you aware that the Board does not allow utilities to earn any return on unfunded deferred taxes?


MR. LONG:  I will take your word for that.


MR. THOMPSON:  Do you consider the flow-through method as being -- well, are you aware whether the Board allows utilities to earn a return on unfunded employee pension liability?


MR. LONG:  I don't know.


MR. THOMPSON:  All right.  Now, let's turn to some of your arguments -- well, some of the rationale you rely on for urging the Board to support your proposal, the rate base approach.


One of them, as I understood it, was I thought you said, but I may not have got this straight, that the government used the rate base approach to determine interim rates.  Is that what you said?


MR. LONG:  That's my understanding, yes.


MR. THOMPSON:  Well, I asked an earlier panel if there was some sort of revenue requirement document available to show how the government came up with what they came up with, and I never saw one.


So how do you know they used the rate base approach to this issue in coming up with their amounts?


MR. PENNY:  Well, Mr. Chairman, that earlier panel was, in effect, Mr. Long, and he put this question to Mr. Long earlier.   I am not sure it is going to get any better by asking it again.


MR. LONG:  I will repeat my answer if you wish.


MR. THOMPSON:  That's fine.  Another senior moment, forgive me.


Okay.  So your understanding is not supported by any paper?  Is that fair?

 MR. LONG:  My understanding is based on the recommendation made by their advisor, CIBC, and that's documented in their report.  And I believe, you know, essentially the only difference between that recommendation and the interim rates that found their way into regulation 53/05 was an ROE of five percent versus the recommended 10 percent.

 I think, you know, so that there is -- I have no reason to believe that the basis for interim rates was any different than that.

 MR. THOMPSON:  All right.  So then let's go to the regulation language that you rely on.  This is my, you will be pleased to know, last area of enquiry.

 We find the regulation, I think, in the A volume.  A1, tab 6, appendix B, I believe is what we should be looking at.

 MR. LONG:  I have that.

 MR. THOMPSON:  Okay.  I understood you to say that you rely on section 5.2 of this regulation, which appears at page 3 of appendix B.  Is that the first section on which you rely?

 MR. LONG:  Rely on it for what purpose?

 MR. THOMPSON:  To support your contention that your approach is the only approach to follow.

 MR. LONG:  We're relying on, I guess, 6, 5, 2, and 6, 5, 7, and 6, 5, 7 refers back to the deferral accounts in 5, 1 and 5, 2.

 MR. PENNY:  Just for the clarity of the record, it is 6.2, (v) and (vii).

 MR. LONG:  Sorry.  You're correct, 6.2 (v) and 6.2 (vii).

 MR. THOMPSON:  6.2 (v), okay.  What about 5.2, which says:
"OPG shall establish a deferral account in connection with 78.1 of the Act that records on and after the effective date of the Board's first order the revenue requirement impact of its changes in total nuclear decommissioning liability."

 Is that relevant to your appearance?  Or does that come into the deferral account panel's appearance?

 MR. LONG:  Well, I think it is relevant to both.  But if I take you, then, to 6.2 (vii), that's where revenue requirement impact is defined for purposes of those subsections dealing with the deferral account.

 MR. THOMPSON:  But revenue requirement impacts, would you agree, don't need to be rate base returns?  They can be cost of service items.

 MR. LONG:  But in 6.2 (vii), it specifies the elements.

 MR. THOMPSON:  6.2 (vii).

 MR. LONG:  The first item there is return on rate base.

 MR. THOMPSON:  Okay.  But it doesn't say the amount of the return, does it?  In other words, whatever dollar amount the Board determines with respect to this claim that you make is for the Board to determine.

 Is that -- are we on the same page here, or not?

 MR. LONG:  Well --

 MR. PENNY:  Mr. Thompson, I think we're probably deeply in the realm of argument here.  Sub seven says "based on the following items", and then item number 1 is return on rate base.

 So, yes, there is a scope for the Board to determine the number, but the subsection seven directs the Board how to do that.

 MR. THOMPSON:  Okay, so that's with respect to deferral account balances.

 Then with respect to 6.2 (viii), it is revenue requirement impact; correct?  Which encompasses cost of service only, I suggest, or cost of service and zero return, or a combination of whatever the Board considers to be appropriate.  Do you agree that that is an option?

 MR. LONG:  No.  Our interpretation there is, again, I take you back to revenue requirement impact, which is defined in terms of its components in section 6.2 (vii).  6.2 (viii) also refers to a revenue requirement impact.  My interpretation of that it is the same set of components.

 MR. THOMPSON:  Okay.  So the Board will then determine what revenue requirement impact means, but your position is that the Board is precluded from adopting the flow-through approach.  That's the bottom line, is it not?

 MR. LONG:  Essentially, that's the basis of our proposal, yes.

 MR. THOMPSON:  Fine.  But it's not only the basis for your proposal.  You're saying you have no choice.

 MR. LONG:  We believe that to be the case.

 MR. THOMPSON:  Thank you very much.  Those are my questions.

 MR. KAISER:  Thank you.
Mr. Rodger.
Cross-examination by Mr. Rodger:

 MR. RODGER:  Thank you, Mr. Chairman.  I just have a couple of brief areas within Mr. Thompson's questioning.

 First, Mr. Long, just to follow up on one of your answers earlier in the day, when you talked about the context for your proposal that you have just had a discussion about with my friend.  I take it that when you talked about, when OPG looked at what proposal to put forward here, I think your words were:  "We put ourselves as how an investor would look at whether to build new nuclear in Ontario."  Do you recall that answer?

 MR. LONG:  Yes.  It wasn't really in deciding what our proposal should be based on, but it was more to try and put or provide some greater understanding of why we think the rate base approach is, you know, is both a reasonable and appropriate one.

 MR. RODGER:  I took your answer to be that you wanted to provide this Board with what I will call a "real world" or "real life" example, that any investor contemplating new nuclear in Ontario -- or anywhere, for that matter -- would want to have assurance that the nuclear liability question would be recovered and there would be return on that as part of the investment made in that new nuclear.

 This wasn't a hypothetical situation.  This was kind of a "real world, real life" example you were putting forward to the Board.

 MR. LONG:  Yes.  I think if you were purchasing two things, an asset that was capable of generating some revenue and an associated long-term liability, and you couldn't separate the two, you had to take them both, then you would look at that quite differently than a situation where you were just buying the asset and the revenue stream.  That you would assess it, taking into account what it's going to take to satisfy that liability, and to the extent that that requires cash flows either today, to, say, fully fund that liability, or cash flows over time, that you would do an assessment of that using your weighted average cost of capital, which is sort of equivalent to the approach that we're suggesting is appropriate for the treatment of the asset retirement costs.

 MR. RODGER:  Just to extend that, and kind of paraphrase your evidence as I heard it, that in a regulated context, and all of those costs are simply within rate base.  That was kind of the ultimate conclusion of the example you gave.

 In the real world, you would need these things.  In this context, because it is regulated, all of those costs go into the rate base.

 MR. LONG:  That's our proposal, yes.

 MR. RODGER:  Would you agree with me then to really understand what nuclear energy costs are, once again, you do have to understand this bigger picture, including the nuclear liabilities?

 MR. LONG:  Absolutely.

 MR. RODGER:  That will give you the true cost.

 If this Board or any other Board didn't take all of those costs into account, you would agree that the nuclear costs would be understated?

 MR. LONG:  And the nuclear revenue requirement would be understated, yes.

 MR. RODGER:  Now, just again to clarify one of your answers, and this goes into the generally accepted accounting principles and the accounting treatment of your entries around this area.


I take it that the Canadian Institute of Chartered accountants, they're responsible for the accounting standards in Canada; is that right?


MR. BRYDON:  That's correct.


MR. RODGER:  As part of these -- these standards include how a company records its liabilities for back-end costs like decommissioning; is that correct?


MR. BRYDON:  That's correct.


MR. RODGER:  I wonder if you could just turn up Board Staff Interrogatory No. 80.


While you're looking that up, the Board Staff asked you for a breakdown, by year, of nuclear fixed assets, decommissioning and nuclear waste management costs and associated depreciation expenses for 2006 and 2007.


If you go down to the second-last paragraph in the answer, the second-last paragraph says, in part:

"In accordance with the Canadian Institute of Chartered Accountants Handbook, section 3110, asset retirement obligations, a credit adjusted risk-free rate of 4.6 percent was used to discounts the incremental cash flow to arrive at the 1,386 million in present value terms."


From one of your earlier answers this morning, it wasn't clear to me whether OPG was claiming that part of the rationale for the option that you are putting before the Board is being driven by these accounting standards.  Is that accurate?  That's part of the reason for the rate base approach that you are taking for the nuclear liabilities?


MR. LONG:  Well, what these accounting standards mean, in part, is that the asset retirement cost is an integral part of the cost of fixed assets --


MR. RODGER:  Yes.


MR. LONG:  -- on our financial statements.


Notwithstanding that, we feel that just applying the rate base approach to fixed assets, including ARC gives an appropriate allocation of the cost of discharging that eventual liability to time periods, i.e., an appropriate basis for revenue requirement.


MR. RODGER:  But I guess what I am asking is a little different.  Was part of your rationale, why you are pursuing the rate base approach, because of these accounting standards, or are those really irrelevant to the option that you are putting before the Board?


MR. LONG:  They're not irrelevant because, as I said, that's what drives the ARC being in fixed assets.


I mean, I would have to take my mind back to the thinking back in 2004 and -- you know, in terms of looking at the way the advisors was looking at the possible approaches here.  But, yes, I guess it certainly was likely to have been guided by the fact that the ARC was in fixed assets.


MR. RODGER:  See, where my confusion about this, Mr. Long, comes from is I take it that since OPG was reconstituted from the old Ontario Hydro, that your financial statements have always been compliant with GAAP; is that correct?


MR. BRYDON:  That's correct.


MR. RODGER:  And if you've always been compliant, I just didn't see how this somehow would help to drive, either in whole or in part, the option that you are putting before the Board.  Just from this interrogatory and the discussion, it just seemed that was kind of a driver of the accounting principles, and I couldn't see how that was -- how that could be a factor if you are already compliant with GAAP, in any event.


MR. BRYDON:  This particular handbook section that is referenced, 3110 --


MR. RODGER:  Yes.


MR. BRYDON:  -- was actually a handbook section that came into effect in 2003, and OPG adopted that as part of generally accepted accounting principles at that time.


MR. RODGER:  So since 2003, this is the way you have done it, in any event?


MR. BRYDON:  Correct.


MR. RODGER:  Thank you very much, panel.


MR. KAISER:  Thank you.  Mr. Warren.

Cross-examination by Mr. Warren:


MR. WARREN:  Panel, I just have three brief follow-up questions arising from my friend Mr. Thompson's questions.


Could you turn up Exhibit K7.1, please?  That's the exhibit that was handed out this morning.


MR. LONG:  I have that.


MR. WARREN:  Could you, just for my edification, explain how did you calculate the accretion cost?


MR. LONG:  The accretion cost -- maybe if I can -- if I take you to J1.5 --


MR. WARREN:  Yes, I've got it.  Thanks.


MR. LONG:  -- then you can see accretion is there every year.  So if I go to the "total nuclear" column, we've got an opening liability.  


If I use 2005, 8150, the accretion is the -- you are applying the risk adjusted credit -- credit adjusted risk-free rate to the 8150 to come up with the 467.  That's what is demanded by the CICA accounting requirements.


MR. WARREN:  My second question, then, is also with K7.1.


Am I right in my understanding that regardless of which approach or option the Board were to adopt -- this Board were to adopt, that the outstanding liability would be covered?


MR. LONG:  When you say "covered", covered by the revenue requirement?


MR. WARREN:  Covered by revenue requirement, regardless of which approach -- option the Board adopted.


MR. LONG:  I think I would have to disagree with that.


I think different approaches provide -- as described here, provide different levels of revenue requirement.


It was certainly our view that option 1 is the one that -- or the rate base approach is the one that covers, you know, the liability.  The others fall short, or certainly the flow-through treatment falling short, we think, would mean that it wouldn't be covered if you followed that approach.


MR. WARREN:  My understanding, though, of the answers you gave to Mr. Thompson was that the difference between the flow-through and the rate base approach was that you didn't -- that OPG didn't get any return on the -- get any return on the fund as it exists now and that that was the difference; that the liability, the decommissioning liability - I use the term "decommissioning" to cover the whole, fuel rods and so on and so forth -- would be covered.  Did I miss something?


MR. LONG:  Yes.  I don't think I said that.  I think I described, you know, the difference as flowing through to the bottom line.


MR. WARREN:  The difference, as I understood it, was a difference in, in effect, profit that you would then pass on to your shareholder.  Is that not --


MR. LONG:  No.  If you look at the revenue requirement components associated with our proposal in H1, tab 1, schedule 3, while one of those components is derived from the return on the ARC component of rate base, that is one component of what we consider the cost of satisfying the nuclear liability.


So it doesn't flow through to profit in that sense.  It provides the wherewithal to make the contributions or the cash outlays associated with nuclear liability.


MR. WARREN:  Thank you, sir.  Those are my questions.  Thank you.


MR. KAISER:  Thank you.  Mr. DeVellis, did you have anything for this panel?

Cross-examination by Mr. DeVellis:


MR. DEVELLIS:  Just a few questions, Mr. Chairman.


Good afternoon, panel.  I would like to start, if I may, by -- I just need a clarification on the asset retirement cost and the rate base for the Bruce facility.


If you have Exhibit H1, tab 1, schedule 3, page 2?


MR. LONG:  Yes, we have that.


MR. DEVELLIS:  For 2009, the net book value of the asset retirement cost for Bruce is listed as $1.057 billion; is that correct?


MR. LONG:  That's the net book value -- that's the average net book value of the ARC.


MR. DEVELLIS:  Okay.  That's 2009?


MR. LONG:  Yes.


MR. DEVELLIS:  Then do you have Exhibit G2, tab 2, schedule 1, table 3?


MR. LONG:  I think I've got that here.

MR. DeVELLIS:  Sorry.  Table 1.  G2, tab 2, schedule 1, table 1.  Sorry.  No, table 2.

MR. LONG:  So that was G2?

MR. DeVELLIS:  Tab 2, schedule 1, table 2.

MR. LONG:  Yes.

MR. DeVELLIS:  Okay.  So this, I thought -- I apologize, and I am referring now to testimony this morning of the earlier panel -- was the average fixed asset for Bruce as a whole, but including the nuclear liabilities?  Table 2.

MR. LONG:  That's correct, yes.

MR. DeVELLIS:  Okay.  And we have for 2009, 1.095 billion.

MR. LONG:  That's correct.

MR. DeVELLIS:  Of that, 1.057 billion is the asset retirement cost?  Going back to Exhibit H1, tab 1, 
schedule 3.

MR. LONG:  That certainly seems to be the case, yes.

MR. DeVELLIS:  Now, I just was puzzled by that, because that seems like 95 percent of the rate base for Bruce is the asset retirement cost.

MR. LONG:  Yes.

MR. DeVELLIS:  So the rest of it, the rest of the net book value for Bruce is about 50 million dollars or so?  Forty --

MR. LONG:  It looks like that, but -- subject to check.

MR. DeVELLIS:  Is that because most of it has been depreciated or --

MR. LONG:  That's correct.

MR. DeVELLIS:  So, then, if we see the depreciation amount, table 3, the depreciation for 2009 is $66 million.  If we had a similar amount in 2010, then Bruce, absent the asset retirement costs, will be fully depreciated as of 2010.

MR. LONG:  Well, except that that depreciation number includes depreciation of the asset retirement costs.

MR. DeVELLIS:  Oh, I see okay.

MR. LONG:  It's the depreciation of the full 1.1 billion.

MR. DeVELLIS:  Okay.  Do you know how much, besides the asset retirement cost, what the depreciation for Bruce for the non-asset retirement portion of the --

MR. LONG:  We don't have that broken out, but it should be the simple ratio between the asset retirement costs and the total fixed assets.

MR. DeVELLIS:  Okay.  Now, if I can ask you to turn to Exhibit L, tab 1, schedule 72, that's the Board Staff interrogatory number 72.  Do you have that?

MR. CASTELLAN:  Yes.

MR. DeVELLIS:  What you say at the bottom, lines 42 to 44 on the bottom of the page is:
"To arrive at the present value of the obligation, the cost estimates are escalated to the time of expenditure consistent with program timing included within the reference plan."

Now, can you just help me understand how that escalation process is done, what assumptions are used to do that?

MR. CASTELLAN:  Typically, we will have a work breakdown structure, and so the first step that we will do is take each element of that work breakdown structure and place it in the year that it is going to occur.

Then we make an assessment, in terms of how much of that is labour, how much of that might be materials or how much of that might be other.  Then we will apply the escalation to get it in terms of those dollars of the year, and then we will discount it back to present value dollars.

MR. DeVELLIS:  Okay.  So you start with sort of an estimate of what the costs would be now, and you sort of escalate it based on inflation?

MR. CASTELLAN:  For example, if I had to buy a loaf of bread and I pay a dollar for a loaf of bread today, okay, what would that loaf of bread cost me two years from now?  I would apply an escalation and that would become $1.20, just for argument's sake.  Then I would bring it back to present value terms using the present value.  So how much money would I have to put into my fund so I would have that $1.20 two years from now, so I can buy that loaf of bread; so it is that kind of process.

MR. DeVELLIS:  Oh, I see.  Yes.

Would you do the same inflationary adjustments for all of the elements, or does it depend on what the element is?

MR. CASTELLAN:  Again, we typically use labour, material, and we have an "other" category.

MR. DeVELLIS:  Yes.  Well, with other items that are in rate base, there comes a time when, for example, a capital project, the project is completed and you're going to book the actual costs of project into the rate base as opposed to what the forecast was.

I am just wondering, with these kind of nuclear decommissioning liabilities, when do we get to that point, if you book these costs into rate base?

MR. LONG:  The amount of ARC that's in fixed assets, which finds its way into rate base, is subject to periodic adjustment.

Every time the underlying asset retirement obligation, the size of the liability, where they go either up or down, there would be an equal adjustment in the ARC.

So, to the extent that these liabilities won't be physically discharged for, say, 80 years, that's going to 
-- you know, assuming that OPG still exists in 80 years, then there will be adjustments of this nature that will continue.

MR. DeVELLIS:  As I understand the nature of these liabilities, is that the liabilities arise each year, say, as a result of ongoing operations.  So you have additions to liability, and then deductions, because you are, at the same time, you are also doing some of the work that the fund is for; correct?

MR. LONG:  And that was what was shown in J1.5.

MR. DeVELLIS:  Right.  So in that sense, the liability is sort of an ongoing thing.  You never get to a point where you say:  Well, the project is done now.  What is the actual cost compared to what the forecast was, and we'll only book the actual cost.

MR. LONG:  Well, once, as I say, the liability is physically discharged, you will know what the final cost is.

MR. DeVELLIS:  When which liability is physically discharged?

MR. LONG:  The decommissioning or used fuel management or low- and intermediate-level waste management.

There will come a point in the future where the liability will be discharged, and that's when you will know exactly what the cost of satisfying that liability is.

MR. DeVELLIS:  No, but I thought that that was, in terms of my earlier question, I thought these were -- we don't ever get to that point, because there is, sort of, it's a continuously evolving thing, that you have some costs are being realized, but then you are adding additional costs.  It sort of just continues in perpetuity.

MR. LONG:  It only continues in perpetuity if the nuclear program continues in perpetuity, and you're continuing to incur, you know, additional liabilities.

Otherwise, you know, once the nuclear stations have shut down, no more waste is generated.  You know what stations you have to decommission.  You are dealing with, you know, a fixed thing.

MR. DeVELLIS:  Right.  That was my point.  As long as the nuclear operations continue, then you never get to a point where you crystallize all of the costs and you are able to realize, compare the actual versus forecast.

MR. LONG:  If the nuclear program is here with us in perpetuity, yes, that would be the case.

MR. DeVELLIS:  Now, if I could ask you to turn to Exhibit L, tab 1, schedule 81, actually, you mentioned this this morning.  I believe it was in response to a question from Mr. Thompson and that is that the discount rate that you used was 5.75 percent, but for costs going forward, it is now 4.6 percent.

MR. BRYDON:  That's correct.

MR. DeVELLIS:  I don't think that you were asked the reason for the adjustment.

First of all, can I ask you:  If the discount rate is lower, that means that the costs -- the present value would be higher?


MR. BRYDON:  The present value of the liability would be higher based on a discount rate that is lower, yes.


MR. DEVELLIS:  What was the reason for the change in the discount rate?


MR. BRYDON:  The reason for the change was, as we have mentioned, there was a change in the liability in 2006, the $1,386 million, and that was, for accounting purposes treated, as an incremental liability.


So when it is layered on, it's layered on and it's accounted for at the credit adjusted risk-free rate at the time the adjustment is made.


At the time that the adjustment was made, that rate was 4.6.  The liability that was already on the books, and remains on the books, was at 5.75 percent when it was determined, and it continues to be accreted at 5.75.


MR. DEVELLIS:  Can you turn, please, to Exhibit H1, tab 1, schedule 1?


MR. PENNY:  Can you state the number again?


MR. DEVELLIS:  Yes.  Exhibit H1, tab 1, schedule 1, page 7, lines 22 to 24, and this is just a clarification question.


Would you say at line 22 is:

"Contributions to the nuclear funds and consequently changes to the nuclear funds contribution profile impact the revenue requirement solely through the deduction for income tax purposes." 


I wonder if you can explain that, because my understanding was that the amounts that are added to rate base, and then -- so there would be a revenue requirement impact by virtue of their impact on the rate base.


MR. LONG:  What this says here is that the contributions to the funds only have an impact by virtue of their tax deductibility.  Because our rate base approach doesn't involve the funds at all, there is no other impact except through the --


MR. DEVELLIS:  Because the funds themselves are not part of rate base?


MR. LONG:  No.


MR. DEVELLIS:  Okay.  I just have one last area of questions.  That's Exhibit H1, tab 1, schedule 2, page 2.


This is a list of how the costs associated with nuclear liabilities is achieved through the revenue requirement.


MR. BRYDON:  That's correct.


MR. DEVELLIS:  You have depreciation expenses, the first one, and return on rate base is the second one.  


Then I want to ask you about items 3 and 4.  And I understand that those two are not capitalized; correct?  They're expenses?


MR. LONG:  That's correct.  They represent the variable costs of dealing with the used -- incremental volumes of used fuel or low and intermediate level waste.  The first flows through fuel expense and the other flows through depreciation.


MR. DEVELLIS:  When you say incremental, you mean changes from forecast?


MR. LONG:  No, just the incremental volumes that are generated in any time period.


MR. DEVELLIS:  Incremental from what?


MR. LONG:  Incremental from what existed prior to that.  So if we generate ten used fuel bundles in 2008, this would represent the cost of dealing with those extra ten fuel bundles.


MR. DEVELLIS:  What is the rationale for treating these two items as an expense, as opposed to capitalizing the other items?


MR. LONG:  The amounts that are capitalized represent the, you know -- or if you look at the asset retirement obligation on the balance sheet, that represents all of the liability that's been accrued to that date.


So it doesn't include any liability associated with waste yet to be generated in future periods.  So it's only -- if you recall in J1.5, when we looked at the continuity of the liability, there was a line there that said variable expense.  So it gets added to the liability through the balance sheet, and it gets expensed through the income statement.


It is not part of ARC.  It is not part of rate base.


MR. DEVELLIS:  Thank you, panel.  Those are my questions.  Thank you, Mr. Chairman.


MR. KAISER:  Thank you.  Mr. Buonaguro.

Cross-examination by Mr. Buonaguro:


MR. BUONAGURO:  Thank you.


Could you please turn up Exhibit K7.1?  I will also be referring to H1, tab 1, schedule 3, page 2.


MR. LONG:  Sorry, H1?  


MR. BUONAGURO:  Tab 1, schedule 3, page 2.  Looking at Exhibit K7.1, under option 2 from CIBC, you have identified the average unfunded nuclear liability as being $1.231 billion in 2008 and $878 million in 2009; is that right?


MR. LONG:  Those are the average for those time periods, yes.


MR. BUONAGURO:  My first question is:  Could you tell me how those numbers appear or are reflected in H1, tab 1, schedule 3, page 2 of 2?


MR. LONG:  They're not.  H1, tab 1, schedule 3 reflects our proposed approach, the rate base approach, which does not -- does not deal with the adjustments in either the flow-through approach or option 2 in the CIBC report.


MR. BUONAGURO:  But in K7.1 you have identified, for 2008, $78.3 million in rate base treatment and $75.1 million in rate base treatment, for a total of 153 million -- $153.4 million in rate base treatment.  


Are you saying that that 153.4 million doesn't appear in H1, tab 1 schedule 3?


MR. LONG:  No.  What that 153.4 is is an adjustment to the amount shown in H1, tab 1, schedule 3.  So we are taking some out of our approach to the tune of 153.4 in that case and putting back in the accretion costs, less seg fund earnings, to come up with the incremental impact of option 2.


MR. BUONAGURO:  I see.  So if you are looking at H1, tab 1, schedule 3, and we are looking under the column for total for 21-month test period, you have $334 million in cost of capital?


MR. LONG:  That's correct.


MR. BUONAGURO:  Doing option 2 deducts 153.4 million from that number?


MR. LONG:  And then adds back the difference between the accretion and seg fund earnings.


MR. BUONAGURO:  I understand.  But that is where it -- sorry.  Your treatment includes that amount, and then you adjust by taking it out when you try to run option 2?


MR. LONG:  Well, if you are going to option 2, the difference is an increase of 33.2.  So instead of 33.4 on the cost of capital line, the equivalent for option 2 would in fact be 366 or 367.


MR. BUONAGURO:  Right.  But when you are running option 2, the first step is deducting 153.4 million from the 334 in H1, tab 1, schedule 3.  That's the first step?


MR. LONG:  That's correct.


MR. BUONAGURO:  Okay.  Now, in my mind, that means -- well, you calculated the 153.4 million based on the figures of 1.231 billion and 878,000 in the first part of that option 2 description in K7.1; right?


MR. LONG:  That's correct.  Those are the amounts that are removed from rate base in order to come up with the return adjustment shown as 153.4.


MR. BUONAGURO:  Okay.  So you said removed from rate base.  That means to me that looking at H1, tab 1, schedule 3, page 2 of 2, for 2008 Q2 to 4, what you are doing is removing 1.231 billion from the 2.325 billion in rate base; is that right?  To run option 2?

MR. LONG:  Effectively, you're taking the 1.231 from total rate base.  The 232.5 is just the ARC component.  But you would get to the same spot, yes.

MR. BUONAGURO:  Sorry.  Can you repeat that?  The total ARC cost is 232.5, and you're deducting the 1.231 to effectively remove the unfunded nuclear liability to run option 2?

MR. LONG:  That's correct.  That is the definition of what option 2 is all about.

MR. BUONAGURO:  Okay, and then the same goes for 2009.  From the 217.8 ARC, you are deducting the unfunded nuclear liability portion, which is 878,000?

MR. LONG:  Yes.

MR. BUONAGURO:  Okay.

Now, the thing I noticed -- going back to K7.1 -- is that you concluded under the flow-through amount, in order to run the flow-through example, you included an accretion cost of 450.7 million for 2008, 624 million for 2009, and you included segregated fund earnings of 362.2 million for 2008 and 525.9 million for 2009.  But you use the exact same figures for option 2, and I couldn't understand why.  Where --

MR. LONG:  That's the definition of the, you know, the accounting has, in the income statement -- and we interpreted flow-through approach as being what was showing up in our income statement -- that's got accretion and it's got seg fund earnings, you know, as an offset.

Option 2, as defined by CIBC, is exactly the same thing.  So that's why it was deducted.  It wasn't, we didn't make this up.  We were -- in the L2-58 we were interpreting flow-through.  Option 2 is what CIBC used.

MR. BUONAGURO:  Okay.  Now, bear with me.  The 123.1 for 2008, for example, by my calculation is about, it's about 53 percent of the total 2.325 billion in rate base that's included in H1, tab 1, schedule 3 for 2008 Q2, 4.  It's about 53 percent for the figure.

Can you take that, subject to check?

MR. LONG:  I will take -- I don't understand the relevance of it, but I will take that percentage.

MR. BUONAGURO:  I am getting to that.  But that is what I got for a percentage.

MR. LONG:  Okay.

MR. BUONAGURO:  Now, as I understand what you have been telling me, under the flow-through approach, you are taking out the entire ARC costs, right, from rate base?  To run the flow-through approach model.

MR. LONG:  That's correct.

MR. BUONAGURO:  Under option 2, you are taking out about half of the rate base.  You are taking about half of the rate base amount out of the ARC.  You are taking -- instead of taking out the whole 232.5 in 2008, Q2 to 4, you are taking out 1.231 from Q2 to 4, about half.

MR. LONG:  Yes.

MR. BUONAGURO:  But then running option 2, you are attributing the entire accretion cost related to the nuclear waste management decommissioning costs to the unfunded nuclear liability, and consequently allocating the entire segregated fund earnings to the unfunded nuclear liability, when you are only taking half of it out of rate base.

I don't understand why you would do that.  Why wouldn't you -- if you are taking 53 percent of the rate base out for the purposes of running option 2, why wouldn't you attribute 53 percent of the accretion costs to the unfunded nuclear liability for option 2?

Why wouldn't you then attribute 53 percent of the segregated fund earnings for option number 2?

MR. LONG:  I will come back to what I said earlier.  This wasn't our option.  This was, you know, really developed by CIBC.  But let me see if I can help you.

MR. BUONAGURO:  Okay.

MR. LONG:  The accretion costs less seg fund earnings essentially represents a return on the unfunded nuclear liability, so there is a direct relationship between that difference and the unfunded nuclear liability.

So I don't understand, I guess, the difficulty you are having.

MR. BUONAGURO:  Okay.  Maybe I could put it another way.  If it were the case that instead of isolating the unfunded liability and removing the rate base impact, as appears in option 2, you were doing the opposite, if the only thing you were leaving into rate base were the unfunded nuclear liability and you were taking out all of the rest of the asset retirement costs, would the accretion not follow it out?  And would the segregated funds not be used to defray the accretion?

MR. LONG:  If that's the way you would define an option, but I don't see the -– what is behind it.

MR. BUONAGURO:  I don't understand if there is -- maybe it is just my own lack of knowledge -- but I don't understand, if there's a particular relationship between the unfunded nuclear liability, such that wherever it goes, the full accretion cost goes, and therefore the entire segregated fund earnings go, or whether it is just a particular way you have done it and in fact it would be more appropriate to allocate the accretion cost and then allocate the segregated fund earnings to the unfunded nuclear liability, if, for example, you're running option 2 and you were isolating that from rate base and leaving everything in.

MR. PENNY:  Let's just be clear once again that, you say the particular way we've done it.

This isn't the way we've done it.  This is an option that was presented by CIBC, in an attachment to L-2-10.  We were asked to show what the effect of using that option would be on the present revenue requirement.

MR. BUONAGURO:  As I understood it, the response that came in J1.3 isn't something that CIBC did.

I understand that it is what this OPG panel did in interpreting the CIBC 2004 report, which appears at L-2-10 attachment A.  Is that fair?

MR. LONG:  Well, you are correct in CIBC didn't do a calculation for 2008 and 2009.  But they did this exact calculation for the interim rate period, 2005 through 2007.

So it is the methodology that we have taken from what they did and applied it to 2008 and 2009.

MR. BUONAGURO:  Okay.  So are you saying there is something fundamentally wrong about my suggestion that you would split the accretion costs, or you would allocate the accretion costs and the segregated fund earnings to the unfunded nuclear liability in proportion to how much of the rate base impact is being attributed to the unfunded nuclear liability?

MR. LONG:  I have difficulty understanding that, the logic behind that.

MR. BUONAGURO:  Perhaps we could take the afternoon break?

MR. KAISER:  All right.  20 minutes.

MR. BUONAGURO:  If I could, and I can wrap my head around it.

MR. KAISER:  All right.

--- Recess taken at 2:46 p.m. 

--- Upon resuming at 3:12 p.m.


MR. KAISER:  Please be seated.


Mr. Buonaguro.


MR. BUONAGURO:  Thank you.  Just briefly, when I asked you if CIBC had done the runs, you said they didn't do the test period runs, but they did runs relevant to the period they were looking at in the report.  I got the impression that you were working from something that I may not have seen in the report.


Are you working strictly from a report that is filed in L-2- -- attachment A in order to come up with the example?


MR. LONG:  Well, we worked with CIBC at the time.  So I went back and reviewed and spoke to people about, you know, what was behind the analysis.


MR. BUONAGURO:  Okay.


MR. LONG:  So on page 19 of their report, which is attachment 1 to L-2-10, there is sort of a very brief description.


MR. BUONAGURO:  Okay.  Just briefly back to some of the cross-examination from -- I think it was Mr. Thompson.  I think you cited the CIBC report in support of your proposal for the treatment of the ARC costs and not just the unfunded liability costs; is that correct?


MR. LONG:  The CIBC report, if I can take you to page 19 --


MR. BUONAGURO:  Yes.


MR. LONG:  -- it talks about two options:  Option 1, which is the rate base approach which forms, you know, the basis of our proposal, our application, and that has the asset retirement costs in rate base; and option 2 is the one we described earlier where the unfunded nuclear liability is removed from rate base and accretion in seg fund earnings are substituted for the reduction in return as a result of removing the unfunded nuclear liability from rate base.


Their recommendation was option 1, which was the same as the basis for our rate proposal.


MR. BUONAGURO:  Okay.  Now, I don't mean to split hairs, but in reading the report, it seems very specific to the unfunded nuclear liabilities as a distinct item as opposed to general nuclear liabilities.  Am I being unfair?


MR. LONG:  Sorry, the unfunded nuclear liability is a specific item?


MR. BUONAGURO:  Right, as a subset.  It doesn't talk about treating these items in rate base, in general.  It talks about treating specifically this cost item called unfunded nuclear liabilities?


MR. LONG:  Option 2, remove unfunded nuclear liability, yes.


MR. BUONAGURO:  Even option 1 talks about unfunded liabilities.  It is not talking about rate base treatment of, example, nuclear decommissioning costs, in general.  It is talking about a very specific problem.


MR. LONG:  That is because the ARC, as I mentioned earlier, is sort of a -- when it was built into the fixed asset values, it is a point in time, present value estimate of the unfunded liability.  Maybe I didn't use the term "unfunded".


But when we were initially set up, we had an unfunded liability, and that's the basis.


So it is recovering the -- what it says under option 1 is recovering the unfunded liability through its return on assets.  That's the basis of option 1, which is the basis of our proposal.


MR. BUONAGURO:  I think I will leave it there.  Thank you.  Those are my questions.


MR. KAISER:  Thank you.  Mr. Faye.

Cross-examination by Mr. Faye: 


MR. FAYE:  Thank you.


Panel, I am going to have a few questions, and then Mr. Rubin is going to ask you a few questions.  I would like to refer you to Energy Probe Interrogatory No. 6, and that will be found at L6-6.


Okay with that?  In this IR, we asked you about the costs of maintaining and monitoring nuclear units over the 30-year safe storage period.  And the response to that IR referred us to one of the exhibits, H1-T1-S1.  I don't know if you need to turn that up.  I will just read to you what is in there.


At page 4, the statement is made that:

"The facility is then stored and monitored for 30 years to allow the residual radioactivity to decay."


I would like to ask you, when you say the residual radioactivity, you don't mean all of the residual radioactivity.  Which part of the radioactivity do you mean?


[Witness panel confers]


MR. CASTELLAN:  Consistent with international practice, what we found is that in places like France and Germany and Sweden, and such, and the States, they use, you know, a 30 -- 30-year, 40-year safe storage period as part of their practice.


In terms of the actual decay, it's to the point of -- I mean, I can't -- I'm not an expert on radioactivity, but it is sort to the point where it is workable.  I can't really -- where we can allow the technicians to go in and do what they have to do, so...


MR. FAYE:  I understood the half-life of some of the elements involved here is considerably in excess of 30 years.


Are you saying that after 30 years you can go in there without protective equipment, without special tools, without robotic equipment, and dismantle the plant?


MR. CASTELLAN:  No, I am not saying that at all.


What I am saying is that after 30 years, according to our engineers and our safety people, whatever, it's an appropriate amount of time for the unit to be in a safe storage mode, and then we would allow people with protective equipment, whatever, to go in and dismantle the plant.


MR. FAYE:  So when you talk about the safe storage mode, that is one of several options available; is that right?


MR. CASTELLAN:  Yes.


MR. FAYE:  Is one of the other options to dismantle the plant as soon as it comes out of service?


MR. CASTELLAN:  That could be an option, yes.


MR. FAYE:  The third option is to entomb it, so to speak?


MR. CASTELLAN:  That could be an option, yes.


MR. FAYE:  How did you decide to choose one option over another?


MR. CASTELLAN:  Well, as I suggested before, we looked at what happened internationally, so we benchmarked against international practice, and international practice has been, in a majority of these places, to allow these units to be in safe storage for a number of years before these things are dismantled. 


We thought that was a prudent way to proceed, and on the advice of our engineers and our safety assessment people and others.


MR. FAYE:  So you would say that in most cases, nuclear operators are following this practice in the world?


MR. CASTELLAN:  Yes.


MR. FAYE:  Am I correct in assuming the first one of these plants that might have been built would have been after the second war?


MR. CASTELLAN:  Yes.


MR. FAYE:  Okay.  So we have had about 60 years go by, and it would seem that if the plants are similar to your own, that the service life appears to be 30 to 40 years.


So do we have some of these ones that have been in safe storage for 30 years about to be dismantled?


MR. CASTELLAN:  No.  I am not sure -- actually, I'm not sure.  I'm not sure.  I could -- I could provide you with a list, if ...


MR. FAYE:  What I am curious about is that your estimates for decommissioning, are they just estimates or are they based on actual experience of dismantling one of these plants?


MR. CASTELLAN:  Well, they are estimates based on American experience.  There has been a handful of plants in the States that have been decommissioned.  I have to confess I am not sure in terms of how long the safe storage period has been for these plants.


But there have been a handful of plants that had been decommissioned.  There are many more plants that are in a safe storage space -- state.


If I refer you to the evidence, H1, tab 1, schedule 1, page 4 of 10, the very last paragraph, it talks about the consultant, TLG Services.  They have done estimates for 91 of 104 operating US power reactors at 61 sites and 19 of the 23 permanently shut down US power reactors at 17 sites.


So that would give you a feel for, you know, the number of reactors that we're talking about.


MR. FAYE:  It definitely gives me a feel for their experience in estimating the costs.


MR. CASTELLAN:  Yes.


MR. FAYE:  It seems that they might be very good at estimating, at preparing paper estimates, but I wonder about whether the actual numbers mean anything.  If they have never actually dismantled one of these units, how do you know if their estimates are any good?


MR. CASTELLAN:  Well, as I suggested, there have been a handful of plants that have been dismantled and do have experience with those plants.  I don't know the names of those plants off top of my head.  I can provide them to 
you --

MR. FAYE:  Would you be able to give us give us an undertaking to supply the information on what plants have actually been dismantled and what the costs would be?

MR. CASTELLAN:  I could get you the names of the plants.  I would have to refer to staff, to my staff, in terms of whether the costs are readily available.

MR. FAYE:  Okay.

MR. BATTISTA:  That will be characterized as undertaking J7.3.
UNDERTAKING NO. J7.3:  To provide names of plants that have been dismantled, their size and, if possible, the costs involved.


MR. FAYE:  Could you include with that a comment as to the size of those plants.  Are they comparable to your plants?  They won't be CANDUs, I take it, but what you be able to do that --

MR. CASTELLAN:  Yes.

MR. FAYE:  Okay.  Would you agree with me that deferring these costs for 30 years effectively transfers the amount of the answering period for any one currently involved in them?  I.e., anyone currently making these decisions is going to be retired or dead by the time these things are actually dismantled.

MR. CASTELLAN:  I might suggest there might be some young engineers there that might still be around, but I won't be around, that's for sure.

MR. FAYE:  Those young engineers are probably not in positions of authority making these kinds of decisions; would you agree with that?

MR. CASTELLAN:  Now they wouldn't be, yes.

MR. FAYE:  I wonder if you would agree that a second effect of transferring this cost out 30 years is to defer it to a future generation to pay.

MR. CASTELLAN:  No, I wouldn't agree with that, because funds are being set aside, today, to deal with these costs in the future.

MR. FAYE:  Estimated funds are being set aside.

MR. CASTELLAN:  Yes.  And we revisit those costs on a five-year cycle, so we have the best, best in town type estimates today.

MR. FAYE:  You would monitor international efforts to dismantle plants in other countries, would you?

MR. CASTELLAN:  Well, we would have access to that information through our use of the expert consultants, yes.

MR. FAYE:  Are you aware of any cost overruns in plants being dismantled in, say, the UK or in France?

MR. CASTELLAN:  As I suggested to you before, we have an undertaking to provide you with a list of plants, at least in the States, but I am not aware of any, no.

MR. FAYE:  Okay.  We will wait on the undertaking.  I think that is all of my questions, and Mr. Rubin has a few for you.
Cross-examination by Mr. Rubin:


MR. RUBIN:  Thank you.  Does OPG anticipate placing the dismantled parts of your decommissioned nuclear stations into your proposed geological repository?

MR. CASTELLAN:  For the low- and intermediate-level waste, no.  It is not part of that project scope.

MR. RUBIN:  What is the plan, in your -- that leads to these cost estimates?  What's the plan for the boilers and the pressure tubes and the all of the radioactive parts of the reactors that are decommissioned?

MR. CASTELLAN:  The plan would be ultimately to put them into a long-term management option.  It could be a deep geologic repository.  The question you asked me was whether -- the way I interpreted the question you asked me was:  Does our deal with Kincardine deal with decommissioning waste?  And the answer today is, no, it only deals with operational waste.  But for purposes of the estimate, we have used an equivalent type management option to deal with the long-term management of these wastes.

MR. RUBIN:  So according to today's agreements with Kincardine, these wastes cannot go in the DJR; is that what I heard you just say?

MR. CASTELLAN:  No.  What I said to you is, according to -- today's agreement with Kincardine deals with operational wastes.  By the time we dismantle these plants, there could be other options out there, one of them being to extend the agreement with Kincardine.  

Of course, they would have to be agreeable to that, but today's agreement with Kincardine doesn't deal with decommissioning waste.

MR. RUBIN:  Is it also your understanding that the plans of the Nuclear Waste Management Organization and the federal government accepting those plans, also indicate that that plan, which anticipates an underground repository, would also exclude parts of decommissioned reactors, that it is just for spent fuel?

MR. CASTELLAN:  Correct.

MR. RUBIN:  Okay.  Does your decommissioning plan involve compacting these huge and largely hollow pieces of radioactive equipment?

MR. CASTELLAN:  It does allow for some pre-treatment of the waste, so depending on the nature of the waste, we could, for example, you know, the techie term is "chop shop".  Some of the equipment may be subjected to the chop shop and properly packaged before it goes to its ultimate management option.

MR. RUBIN:  Okay.  We had a little discussion -- and I am afraid I may have missed part of it -- from Mr. Long on the differences between what ONFA considers an adequate level of liability funding and what the Canadian Nuclear Safety Commission considers an adequate level of funding for, I believe that was just for waste fuel disposal.

Is that correct?  Or does decommissioning come into that, as well?

MR. CASTELLAN:  It's all-encompassing.  It includes – so for CNSC, we call it the decommissioning financial guarantee, and it includes all waste.  ONFA also deals with all waste.

MR. RUBIN:  Can one of you, again, give me or give us a list of basically, at least, all of the ways that the CNSC demands more money sooner, and therefore you have to get into a provincial guarantee, as well as the funds that have already been set aside?

MR. CASTELLAN:  The basic difference between the ONFA and the CNSC is that the CNSC plan is a little bit more conservative.

What it does not -- it only includes for Pickering B, for Bruce B and for Darlington a 25-year operating life to the point where retube has to be considered.

With regards to the CNSC decommissioning financial guarantee, the set of assumptions that were crafted there allows for a 40-year operating life for the units, in terms of constructing the reference estimates for that guarantee.  The 40-year life is also consistent with international practice, and that is consistent with their guideline.

MR. RUBIN:  The 40-year life would have virtually no effect on decommissioning cost, would it?  So this is only on the high level waste side?

MR. CASTELLAN:  Well, the 40-year life does allow for a deferred dismantling of the units, so it would allow for a net present value effect of a decrease in the decommissioning costs.

MR. RUBIN:  Decrease?

MR. CASTELLAN:  That's right.

MR. RUBIN:  So that would be CNSC requiring lower amounts of funds, wouldn't it?

MR. CASTELLAN:  That's correct.

MR. RUBIN:  Now, but the net effect is that CNSC demands a higher level of guarantee; isn't that correct?

MR. CASTELLAN:  I am not sure I follow your question.

MR. RUBIN:  My understanding from the evidence is that you have given money to ONFA, and you have some unfunded liabilities that are shrinking.

Those ONFA funds do not suffice to meet the CNSC's requirements, and you are paying the provincial government to guarantee additional funds in order to satisfy your federal regulator.

Did I get that right?

MR. LONG:  I think, just to make it clear what I said earlier, the CNSC guarantee starts with a liability estimate, as Mr. Castellan has described, based on a certain set of assumptions.

We compare that to how much money we currently have set aside in the ONFA funds.  The ONFA liabilities are not fully funded, as I described earlier.  I think the used fuel liability is something like 70 percent funding, so there is a gap even there.

So the difference, the CNSC requires a guarantee that the full amount of the liability they can call on today, if they need to.  So they're looking for the province to fill the gap, and that's the basis of the financial guarantee.

MR. RUBIN:  But am I not correct in saying that the gap, if you will, for the CNSC is larger than the 30 percent of unfunded liability for the nuclear waste side of ONFA?

MR. CASTELLAN:  No, actually it's reversed.  We would suggest that the life cycle reference estimate for the ONFA plan is higher than the amount that we had to guarantee for the CNSC.

MR. RUBIN:  Okay, thank you.

We turned earlier to the statement in -- I believe it was Mr. Thompson had you turning to the 2007 financial statements; I don't think you have to turn to them now -- to the statement that the undiscounted amount of estimated future cash flows associated with the liabilities is approximately $24 billion in December 31st, 2007 dollars.

My question is this -- without putting documents in the record, my understanding of the estimate from the nuclear waste management office for disposing of Canada's nuclear-spent fuel -- nuclear fuel waste, without decommissioning any reactors, is basically that same amount, is $24 billion, except they did theirs in 2002 dollars.

Now, I don't need to put that report in front of you, I hope, but I assume you are familiar with that.  Ontario Power Generation certainly has a major role in Nuclear Waste Management Organization and pays most of its costs, as I understand it.

My question is just:  Can you help me reconcile these numbers?  They seem to be different.

MR. CASTELLAN:  The $24 billion that you referred to in the evidence, the 2006 -- were 2006 dollars, and those deal only with OPG used fuel waste.  The $24 billion that you referred to as the NWMO estimate are 2002 dollars, but they deal with all of Canada's waste, including New Brunswick Power, Hydro Quebec AECL.

So when you escalate that, you would probably get, you know, the -- it fits.  It does fit, because the one is a fraction of the other.

MR. RUBIN:  Isn't that fraction something north of 95 percent?  I mean, isn't OPG totally dominant in nuclear capacity compared to one reactor in New Brunswick, one in Quebec and little ones at Chalk River?

MR. CASTELLAN:  As of 2006, OPG had 90 percent of the used nuclear holdings.

MR. RUBIN:  And it's your understanding that that 10 percent difference is enough to cover the cost of decommissioning OPG's reactors -- 

MR. CASTELLAN:  Subject to check.  

MR. RUBIN:  -- including Bruce?

MR. CASTELLAN:  Subject to check, yes.

MR. RUBIN:  Okay.  Please check.

MR. LONG:  Could we get a reference for the 24 billion that you quoted with respect to the NWMO?

MR. RUBIN:  Yes.  It is in their -- I believe it was November 2005 report.  Perhaps I can give it to you while we're standing on one foot.  If not -- yes, yes, there it is.

I have it -- where are the page numbers?  In the PDF file it is -- online, it is:  NWMO final study November 2005, E, for English, .PDF, and it's on page 142 of 454 of the digital file.  Whoops, and I just moved it too far, so I am having trouble -- yes, there it is.

The physical page number, I believe, is 141 in the printed report.

MR. CASTELLAN:  Okay.

MR. RUBIN:  I believe this is my final question.  My understanding, from your written testimony and I believe from things that Mr. Long said today, is that one of the -- one of your criticisms with the flow-through approach - and I believe, if I understood correctly, this also applies to option 2 - is partly on the basis of rate stability.

Did I get that right?

MR. LONG:  It was actually OPG's regulatory earnings stability, plus the crediting of the earnings on the funds when the lion's share of those funds has been provided by the shareholder.  Those were the two key reasons.

MR. RUBIN:  I thought I heard you say that, for example, early in this year when the financial markets were in turmoil and -- I thought I heard you say you were something like $170 million short of target on the earnings.

MR. LONG:  That's correct.  If I can take you to undertaking J1.3, page 2, the first paragraph that starts about an inch down, there we talk about fund earnings and, you know, what that means in terms of forecast risk and volatile regulatory earnings.  You know, that increased risk to OPG would need to be -- would need to obviously be compensated in cost of capital.  

But in and of itself, it won't necessarily result in unstable rates unless we're forecasting the volatility. 

My point in raising the situation earlier today -- earlier this year was to give some indication of the magnitude of that risk that would need to be dealt with if such an approach were followed, as well as, as I also indicate there, in terms of the source of the funding for the funds coming from the shareholder and not the ratepayer, but them getting the credit through that type of approach.

MR. RUBIN:  Am I not right in assuming that if financial turmoil became the rule instead of the exception, and if $170 million shortfalls in earnings became the rule rather than an exception, we would have to do some sort of mid-course correction in somehow getting more money in order to meet the target and have the money we need when we're going to need it; isn't that correct?

MR. LONG:  I guess if turmoil and low earnings became the norm, hopefully we would do our forecast of fund earnings on a similar basis, and it would eventually be dealt with through that, if in fact that's the approach.

I mean, this is -- as we said many times, we don't think this is an appropriate approach.

MR. RUBIN:  Sorry, but in your proposed approach, isn't there still a need -- don't you still present value or back-cast how the funds will accumulate over the decades until the majority of them will be spent for decommissioning and certainly for high level waste disposal?  If the parameters -- if your compounding assumptions are wrong, including the revenues, that the fund is going to make, doesn't that need a correction?

MR. LONG:  Well, there is a difference between the funding and the revenue requirement treatment as we proposed.

The revenue requirement treatment is based on the ARC, which is in fixed assets, and that does rely -- that is a present value.

So if expectations about returns in the market are going to change, presumably that discount rate will change,

In terms of our funds, we have targets rates of return that we work off of under ONFA.  If the capital markets underwent a significant shift, no doubt we would have to revisit that to make sure there were sufficient funds available at the end of the day.

MR. RUBIN:  Are you saying that would have an effect on your shareholder, the government, but not on your ratepayers through rates?

MR. LONG:  To the extent that the discount rates used in defining the asset retirement obligations and the rates used under ONFA defining the contributions sort of move somewhat in sync, there would be a relationship.  But it is not a direct one. The funds do not find their way directly in our approach.

MR. RUBIN:  So there would be an indirect effect on rates, but not a direct effect; did I hear that correctly?

MR. LONG:  Well, it would come through the asset retirement costs.

MR. RUBIN:  Okay.  Let me just ask one small clarifying question.

Am I correct in assuming that our discussion about what gets into the rate base, and therefore yields a 10-1/2 percent return, is the unfunded liability?

MR. LONG:  The original asset retirement cost represents -- they represent a point-in-time unfunded liability, and then they are subsequently depreciated, subsequently adjusted as was the case at the end of 2006 when there was a shift in the level of the liability.  The present value at that point in time of that shift was then added to ARC, as well.

MR. RUBIN:  But between recalculations based on new assumptions about how much the job will cost, between those times and absent that, we're debating -- in option 1 versus 2 versus flow-through, your proposal is that OPG would earn a 10-1/2 percent on the liability that has not been funded.  Did I get that right?

MR. LONG:  It would earn its proposed cost of capital, which includes a ten and a half percent return on equity.

MR. RUBIN:  On the unfunded liability?

MR. LONG:  On the ARC amounts, the undepreciated ARC amounts, which, in turn, are present value amounts.

MR. RUBIN:  But which are not cash in hand.  They are -- they reflect liabilities that have not yet been funded.  Is that --

If that's wrong, help me understand it, because my brain hurts.

MR. LONG:  The ARC -- it starts out being, you know, based on an unfunded liability.  As time marches on, the ARC, as I mentioned, gets depreciated.  And at the same time, through a separate process, the ONFA process, funds are set aside.

The revenue requirement impact, if you will, as we proposed it, provides the wherewithal to actually make the contributions to the funds or to help pay for the other cash requirements.

It isn't the -- the funds themselves are not an integral part of our proposal.

MR. RUBIN:  So you're saying that at certain points in time, the two lines cross, in effect, and ARC and unfunded liability are set together.  And from then on, the unfunded liability diminishes by being funded, while the ARC diminishes by being depreciated; is that correct?

MR. LONG:  I am not sure I caught the first part of that.

Certainly, the ARC decreases through depreciation.  It may go up or it may go down if there are adjustments to the Liability, and the –- What was your point about the funds, sorry, the --

MR. RUBIN:  And the unfunded part of your nuclear fund liabilities decreases as you pay into the fund.

MR. LONG:  Yes.  On the one hand, it increases through the equivalent of accretion, because it is always usually done on a present value basis.  That's the liability.

The fund increases through fund earnings plus additional contributions, and, yes, I mean the whole idea is to close the gap over time, so that at the appropriate point in the future, the liability is fully funded.

MR. RUBIN:  Okay, those are my questions.  Thank you.

MR. KAISER:  Thank you.

Ms. Campbell.
Cross-examination by Ms. Campbell:


MS. CAMPBELL:  Thank you.  I have a question that arises out of K7.1.  It's a question of -- Mr. Warren had been asking you some questions about the decrease in revenue requirement for the test period, which is 147.6 million.

I would just like to understand, if the 147.6 million is not collected by OPG in 2008 and 2009 from the ratepayers, does OPG intend to collect that 147.6 million at a time after that in the future?

MR. LONG:  Through subsequent rate filings?

MS. CAMPBELL:  Yes.

MR. LONG:  I am not sure that I can answer that question.

MR. PENNY:  Is what you mean, Ms. Campbell, if we don't recover that amount now, that that remains as some sort of notional shortfall in some sense, and that it will have to be recovered under some other methodology at some future time?  Is that what you're getting at?  I am not sure I understood the question.

MS. CAMPBELL:  Well, I guess what we're trying to get at here is if the unfunded liability remains higher, are you going to come and try to get that 147 at a later date because of the increased unfunded liability.


MR. LONG:  The 147 isn't -- there isn't a direct relationship, if we were to follow this approach, between the 147 and the amounts we put in the fund to deal with the unfunded liability.

ONFA has very firm requirements on OPG as to what has to be put in the fund, so we have to make those contributions regardless of what we get by way of a revenue requirement.

MS. CAMPBELL:  Right.  So you don't get the 147, and the liability keeps increasing.  What happens?

MR. LONG:  And so does the fund.  The funding of the liability is quite separate from the, you know, the revenue requirement.

MS. CAMPBELL:  I am trying to get this clear.  The return on the rate base, if it doesn't go to reduce the liability, does it go to the shareholder?

MR. LONG:  Sorry.  Could you repeat that, please?

MS. CAMPBELL:  I am not getting this, so I am going to let Mr. Battista, who is very animatedly beside me understanding this thoroughly, I am going to let him continue to talk.

MR. BATTISTA:  It is just a point of clarification.  It has to do with the concept of, as presented, that the return on the rate base item having to do with the decommissioning and related costs, the fuel costs, that return, when those funds are collected by way of rates to the extent of 10 percent on the amount in rate base.  Does that, in effect, go to pay down the unfunded liability?  So that at some point in time, what this proposal is doing is really, in effect, paying now, paying sooner for the ultimate drawdown of the liability?  Or does that 10 percent fall through the income statement to the shareholder?

MR. LONG:  Let me take you to H1, T1, schedule 3.  There we have -- and let's look at 2009 -- there we have, towards the bottom, the total revenue requirement impact of our proposal.  This is our proposal, mind you, not one of the others, but the arguments, I think, apply equally.

If we are successful in getting 394 million, part of the revenue requirement in 2009, that provides the wherewithal to deal with the current cash requirements of 450, or in partial fulfilment of that.

If we get a lesser amount in revenue requirement, we don't -- our cash requirements, the ONFA contributions, and the amount we have to fund from internal funding don't go away.  They remain exactly the same.  So we will end up with less cash, higher borrowings, lower net income, you know, whichever way the monies would flow.

So the dealing with the unfunded liability has to be dealt with independent of how much we include in the revenue requirement for, you know, for nuclear liabilities.

MR. BATTISTA:  So what you're saying, then, if I've got it right, is that your calculation at the 10 percent rate-of-return provides you with enough cash to meet your funding requirements as defined by the understandings with the government, to the amount of 450 million.  And that if you don't get it by way of the ten percent on rate base as a mechanism of generating those funds, your company, on its own, will have to generate through the marketplace, go to market, borrow, beg or steal the absent amount.

MR. LONG:  We would have to take it out of our operating cash flows, which gets back to a point I tried to make earlier about the risks associated with this falling to the shareholder.

MR. BATTISTA:  Right.  And there is no intention, then, in the future for OPG to propose that.  I didn't get it last time, so my unfunded liability, on a notional sense, really, we're having to pay for as an entity, as opposed to the ratepayer paying for it in year 1, being 2008 and 2009.

MR. LONG:  I think if we're not successful in our current application in this area, we may very well come at it again in the future, because it does represent -- it can represent a very significant financial impact on the company.


MR. BATTISTA:  You mentioned that you could possibly pay it out of your working capital.


MR. LONG:  I said operating cash flow.


MR. BATTISTA:  Not working capital?


MR. LONG:  Working capital, you know, as I think of it, is -- well, you know, it's really dealing with the -- largely the -- you know, the supporting of things like inventories and the difference between payables and receivables.


MR. BATTISTA:  Working capital could perhaps be defined in the creation of the rate base amount? 


MR. LONG:  Sorry, was that a question?


MR. BATTISTA:  Oh, yes.  I would presume it is what somewhat similar to how rate base is calculated where there is a working capital component in rate base?


MR. LONG:  I am not making the connection here.


MR. BATTISTA:  I was just trying to get confirmation from you.  Your description of working capital, as you just described -- or operating cash flow is similar to the working capital component of rate base?


MR. LONG:  No.  Operating cash flow is quite different.  I think working capital, yes, I agree it's sort of as we have defined it for rate base purposes.


Operating cash flow is really the difference between the revenue we've got coming in and the immediate expenses that we have to pay.  So we have things, you know, such as depreciation, which isn't an expense you have to pay.  So to the extent you have a revenue requirement that included depreciation, you have actually got a source of cash.  You may have other sources of cash.


I mean, if you're really short of cash, you have to borrow to -- or attempt to borrow to make up for any deficit.


MR. BATTISTA:  Okay, thank you.


MS. CAMPBELL:  Mr. Chute has a question.


MR. KAISER:  Thank you.

Cross-examination by Mr. Chute:


MR. CHUTE:  I would like you to refer to the evidence, Exhibit H1, tab 1, schedule 1, page 6 of 10, specifically the first full paragraph on that page starting at line 4. 


I have a couple of questions of clarification, because it seems that it's describing two funds, but there seems to be some parallel treatment, and then seems to be some different treatment, depending on who is responsible for the funds.


In line 5, there's a specified rate of 3.25 percent over the change in the Ontario CPI.  I am wondering if that is not a typo; that it should be over the level of the CPI.


MR. LONG:  Well, the level of the CPI is usually, in my mind, defined as an index, whereas this is referring to the percentage change from -- you know, on a year-over-year basis.


MR. CHUTE:  Okay.  But it is referred to later in line 10, when we're talking about the decommissioning fund, as over the consumer price index, which is -- now, I presume that you're meaning the same concept.


MR. LONG:  Yes, exactly the same.


MR. CHUTE:  Okay.  That's good.


Now, in line 4, under the used fuel fund, it says the province of Ontario guarantees this rate of return.  So I presume that from the other evidence, where there's a guarantee fee and everything, this happens on an annual basis that they --


MR. LONG:  Yes.  The guarantee fee was with respect to the guarantee that they provide the CNSC on our behalf.


This is an integral component of the Ontario Nuclear Funds Agreement, and the -- as it says here, the province guarantees the rate of return on the used fuel fund.  So if it falls short, they would have to make it up.


If, as has been the case since day 1, it has exceeded the target rate of return, those funds become due to the province.  That was something that was raised with respect to some items in the annual report earlier today.


MR. CHUTE:  Right.  Now, so the province gets the earnings in excess.  Now, if we go to the bottom of that paragraph, starting at line 9, where we're dealing with, OPG's obligations with respect to the decommissioning fund, it says that the decommissioning fund has a targeted rate of return.


Would you say that that is different than a guarantee?


MR. LONG:  Yes.  The targeted rate of return, which is -- you could say the used fuel fund has a targeted rate of return, but it is also guaranteed at the same level.


MR. CHUTE:  Right.


MR. LONG:  That's essentially the discount rate that is used in the whole calculation of what the funding requirements would be.


It is different -- it's not guaranteed.  In the case of the decommissioning fund, any shortfall in earnings is 

-- are OPG's responsibility.


As I mentioned earlier today, currently the decommissioning fund is -- you know, is essentially fully funded.  So we're not making any contribution to that fund, but in the event it did very poorly, return wise, we would perhaps have to make contributions in the future.


MR. CHUTE:  So what happens to funds -- returns over the guarantee, whereas the province collects them, does OPG collect those earnings?


MR. LONG:  It's not quite that simple.


Under ONFA, there can be no distribution of any expected surplus until the fund reaches a 120 percent level of funding; i.e., that once the moneys in the fund exceed the current estimate of the liability by 20 percent.


So up until that point, nothing can be done.  It just stays in the fund.


Beyond that point, OPG is allowed to take out 50 percent of the surplus, or the expected forecast surplus, and direct it to the used fuel fund only.


To the extent that the used fuel fund is already fully funded at that point, it can't even do that.  If OPG were to do that, the OEFC, which is an arm of the Ontario finance -- of the province, Ministry of Finance, is also eligible to take out 50 percent of the excess, and they can take it out as cash.


In the event that we can't use the surplus in that manner, it stays in the fund, and, at the end of the day, the surplus, in both the used fuel and the decommissioning fund, reverts to the province.


MR. CHUTE:  I have a question, then, regarding Exhibit K7.1.  In terms of the segregated fund earnings, the returns for 2008 and 2009, do you know what sort of return on investment that is, in percent terms?


MR. LONG:  It's equal to the target rates of return on the fund, and at the time of the last reference plan update with the province, that discount rate was established at 5.15 percent.  And that's the 3.25 percent that's on page 6 of H1, tab 1, schedule 1, plus the then forecast long-term inflation rate of 1.9 percent.


MR. CHUTE:  So I guess my final question is over the 

-- this says this is an obligation over the lifetime of the funds, that OPG has an obligation to reaching this target.


MR. LONG:  That's correct.


MR. CHUTE:  And I think you have described this as a bit of - I don't know - a sinking fund, where it is collected and you can take some out according to certain rules.


But is there, at some point in the future, going to be a big bill or a big surplus?  What...


MR. LONG:  I am not going to forecast that far into the future, but the process is such that the -- you know, that the state of funding and the underlying liability estimates are constantly revisited and adjustments made.


So, you know, if there is surplus, that's fine.  I mean, I think everyone would have a smile on their face, but if liability estimates go up, or shortfalls in earnings occur, then either us or the province would have to make the necessary contributions to put the funds back into a healthy position.

MR. CHUTE:  So to date, the fund has achieved its target, or overachieved its target --

MR. LONG:  Overachieved its target.

MR. CHUTE:  -- on an average annual basis?

MR. LONG:  That's correct.

MR. CHUTE:  Overachieved?

MR. LONG:  Overachieved.

MR. CHUTE:  By how much, do you know?

MR. LONG:  Subject to check, you know, the target's rates of return originally was 5.75 percent and that was when inflation rates were forecasted around two and a half percent long-term.

Recently, as I say, it is 5.15 percent.  I believe the returns to date, lifetime returns to date are of the order of eight to nine percent.  So there is a significant, significant difference between actual returns and target returns.

MR. CHUTE:  Thank you.

MR. KAISER:  Thank you.  
Questions from the Board:


MR. RUPERT:  I guess I will return to the subject.  I just have a few questions on some of the areas that Mr. Thompson and Mr. Buonaguro and others were asking.  Also get your reaction to, I am not sure whether to call it a modified rate base approach or modified flow-through approach or modified option 2.

This kind of lends itself to the white board.  We haven't got that, so maybe the best way is if you could turn up Exhibit J1.5 -- that's the exhibit referred to several times today -- page 2.

MR. LONG:  We have that.

MR. RUPERT:  This is the ARO adjustment row towards the end of 2006, which gave rise to the increase in the total nuclear column of 1,386,000.

Now, let's assume -- this was not the reality, I appreciate -- but let's assume that immediately before OPG booked that ARO adjustment, the unfunded liability was zero.  That is the funds held exactly equalled the liability on the balance sheet at that point.  And then the company makes this entry on December 31, 2006.

Now, let's just say as well, because I think this is one of the concerns of yours, that there is no difference of opinion that 1,386,000 goes into rate base at that date, as you are proposing in your proposal, I think.

Under your approach, as I understand it, once that is into rate base, short of any adjustments to liabilities down the road, if ever, nothing more about the liability itself matters in the revenue requirement.  Once the 1,386,000 is included in the rate base, except to the extent there might be a future revision to the reference plan, the liabilities become totally irrelevant to the revenue requirement.

You've got the one --

MR. LONG:  Yes.  It's based on the ARC rather than the ARO, which is a liability on the liability side of the balance sheet.

MR. RUPERT:  Right.  So in your financial statements, however, which Mr. Thompson was referring to, that 1,386,000 is the present value of a stream of future cash flows that -- you talked about this earlier -- is discounted at a rate of 4.6 percent.  That additional liability you booked at the end of 2006 had an interest rate -- discount rate of 4.6 percent.

So as you roll into the year 2007, you get to this accretion line.  Now the accretion, of course, on the Exhibit J1.5 of 575 million is for the entire liability.  But if you would look at the accretion solely in respect of this incremental liability booked at the end of 2006, that amount would be 4.6 percent of the 1,386,000 that you booked at that date, right?  Which is the accretion would be based upon the discount rate that was used --

MR. LONG:  Yes.  I think there is an interrogatory response that deals specifically with that.

MR. RUPERT:  That number, about $64 million, say.  That's what you report in your financial statements for that incremental amount.  

I have assumed no funding of the liability at this point, so the unfunded liability is purely one billion 386, going up by the accretion.

Now, under your approach, as I understand it, in that year 2007, you would say, the ARC of -- that is the asset addition of 1 billion 386, that is really funded in two ways: 42 and a half percent by debt, 57 and a half percent by equity.

So in 2007, the revenue requirement you would want in respect of the incremental liability would be to calculate these numbers.  But in round terms, you would say about 589 million of that is actually deemed to be funded by debt, which has a cost of 5.86 percent, whatever you got in your application, and the remaining roughly 800 million of that is funded by equity, which has a ten and a half percent after tax return, which is around 16 percent pretax.  So you book in your financial statements an expense of 4.6 percent, but the revenue requirement is obviously going to be well north of that, because even the debt component is higher than 4.6 percent rate and the equity is considerably higher.

This gets back to a question I think we talked about on day 1, and may come up again in the cost of capital.  But you get into that, I think, because you said there is two ways you fund the business.  There is debt and there is equity.

If at December 2006, in my hypothetical example, there were three ways that the assets were funded, the piece of the asset that you can say is attributable to the – a portion of the asset equal to the unfunded liability at that date might have a cost of only 4.6 percent.  The remainder of the asset might be funded by some debt equity split based upon some approved ratio.

Now, in both cases, whether it is your approach or what I have just described, there is a rate base.  The rate base includes the full ARC.  So my question would be, I'm not asking you to accept or agree with this method, but would that method that I have described be consistent with the regulation?  As you pointed out earlier, there is this reference to return on rate base.

So in both examples, your approach and my example, the rate bases are identical.  The only difference is the sources of funding to support that rate base.

So if you had those two methods, would you say that at least in respect of the references to rate base in the regulation, that you would have to say both methods would be consistent with the Reg.

MR. LONG:  It strikes me that that's more of a legal question than anything else, in terms of interpretation.

But when I see return on rate base, you know, in the context of that regulation, I mean I tend to think of a return based on the weighted average cost of capital, which is the way I think it is usually dealt with.

MR. RUPERT:  So your interpretation is the word "return" can only be a blended return of a debt amount and a return on equity amount.  It could not possibly have any other meaning in the regulation.  That would be OPG's position on that.

So it is not just the quantum of the rate base, it is the actual return part that you say support the company's application?

MR. LONG:  Yes.  I think the fact that the regulation specifies return on rate base means, you know, the nuclear liabilities find their way into the rate base through the ARC, and that the -- that there's a return.

My interpretation of that return is that it's based on the weighted average cost of capital.

MR. RUPERT:  Now, in my example, I have assumed that for the year 2007, the first year after the new enhanced liability is booked, that there is no funding.

Let's say at the end of 2007, the full incremental liability of my hypothetical example were to be funded.  So the unfunded liability was zero, it goes up to one billion 386 at the end of 2006, and by the end of 2007, falls to zero because the company has fully funded that.

For that intervening year, the company's had to raise new equity funds or borrow money to make contributions, because it made no contributions.  But by the end of 2007, in my hypothetical case, the company made a large contribution and eliminated the unfunded liability.

So at that point there is no unfunded liability, and no need to attribute any portion of the funding of the rate base to unfunded liability since none exists, and you are back to a debt-equity split.  But in the intervening period, until you actually put cash into the fund and extinguish the unfunded liability, you have not had to incur debt or raise funds from your shareholder.  Right?

As long as there is unfunded liability, you haven't had to borrow money to support that.  It is only the actual cash contributions that give rise to the need to say:  We borrowed money or perhaps the shareholder has injected funds.

MR. LONG:  I think two comments.  One is that the obligation to eventually put sufficient money aside to deal with it is there from day 1.

MR. RUPERT:  Right.

MR. LONG:  Two, that it is a present value.  So to me, whether we have an obligation that we deal with day 1 -- I mean, if I were to take your example and say, instead of waiting towards the end of the year, let's do it at the beginning of the year, then clearly, you know, the amount that you would have to raise in terms of capital debt and equity would be exactly the 1,386.


And, you know, ONFA defines what our funding schedule is, but there is nothing to stop the company, as far as I know, turning around tomorrow and finding a source of funds and fully funding the unfunded liability, in which case I think a lot of these arguments would disappear.  But if that were the case, the amount of our fixed assets in the ARC would be identical.


The amount of our proposed capital structure, you know, the size of our capital structure and the elements of it, would presumably not change.  So I see no difference whether we have the obligation to fund tomorrow or over time, or whether we choose to fund today, that the -- you know, that's I think part of a source of our -- my understanding of why the rate base approach makes a lot of sense.


MR. RUPERT:  But in terms of your external financial statements that you give to your shareholder and publish and sends off to the OSC, you're saying that in as much as you haven't funded the liability, the cost to the company, the expense to the company, is 4.6 percent in the example I have had.  That's what you're saying to the world is the cost of not funding that liability.  The unfunded liability has a 4.6 percent rate on it.


I am just wondering, if that's the case, if you're saying, We haven't funded it and we're booking an accretion of 4.6 percent, and that's that the way the world is understanding your financial position and results of operations - and presumably the way credit rating agencies are also looking at it, although I can't speak to that - why would, in a revenue requirement in a regulatory environment, the company need more than that if that is the published cost of the unfunded liability in the financial statements?


MR. LONG:  I will let Mr. Brydon pick up on this.  The only thing I would say is that it is following the accounting rules.  The 4.6 percent, for example, you know, there is no relationship between that and our cost of capital.


MR. RUPERT:  That is exactly why I am asking the question, because the 4.6 percent is the cost.  You are expensing on your AROs, which is quite different than the cost of capital that you are asking for in this hearing, so, hence, my questions.


MR. BRYDON:  So the 4.6 percent is the amount that the liability is growing at, which is the -- because it is stated in present value terms.


MR. RUPERT:  That's the amount that you're expensing?


MR. BRYDON:  That is the amount that is being expensed on the income statement, correct.


On the balance sheet, the undepreciated asset retirement costs are flowing through depreciation.


MR. RUPERT:  But under either scenario, those are the same.  I'm not talking depreciation.  Under your proposal and what I put forward, the depreciation would be identical.  So that's not an issue.


Can you assist?  Another way of asking the question Mr. Thompson asked, I think, which is getting to his 200 basis points or whatever, it seems that the amount that you might garner through your proposed revenue requirement is substantially higher than the actual cost you report in your financial statements in this kind of situation.  


I am just trying to grapple with why that is appropriate.


MR. LONG:  I think within that question there is, you know, an implied assumption that the income statement impact is a suitable basis for revenue requirement.


I think that's the fundamental difference, that it's following the accounting rules, and, as I mentioned earlier, you know, one of the things it depends on is the state of funding.


There is a certain arbitrariness to the level of funding.  If, for instance, we were to choose to put more money in tomorrow, the state of funding would change.  ONFA rules dictate the pace of funding, including the front end -- the degree to which you front-end load it.


So if I were taking a cost of reliability and wanted to apportion it to time periods over time, I would want it to be done on some sort of rational basis; whereas if it's also subject to -- you know, to these other rules associated with funding, which may front-end load or back-end load, I would have concerns.  And we don't think that the -- that what flows through our income statement in this area represents a suitable revenue requirement basis.


MR. RUPERT:  One last thing.  You described it as perhaps irrational or lack of rationality, but could you also not say that the reality is that once you actually put up cash, then there is -- clearly the company's done something to get that cash.


I don't notionally say there is more equity, more debt, but until the company actually funds, why provide a return to the company, assuming it has funded it, when it hasn't funded it?  That's what I am sort of putting to you.


MR. LONG:  I think the answer to that revolves around the fact that the obligation does not disappear, and that obligation carries with it some risk, which is -- usually you know, the compensation for risk is return.


MR. RUPERT:  But that's clearly not reflected in the discount rate that you're using.  You are saying the discount rate you are using is an inappropriate rate to discount the liability at?


MR. LONG:  The basis for the 4.6 I will let Mr. Brydon speak to, but the discount rate that is used for purposes of ONFA is different.


MR. RUPERT:  Okay.  Well, let me leave there.


You have got the -- yes, okay.  Option 2 on Exhibit K7.1, you have set out your information on the average unfunded liability for the two years, so it is possible to do some calculations if one were to -- okay.  


We will leave that one there.  The other one is a smaller one, but I don't know if you were here, Mr. Long, the other day or not.  Maybe this is for Mr. Castellan or Mr. Brydon.  It is a smaller point.


Yesterday or the day before in -- I'm not sure which panel it is now.  This is in respect to the P2/P3 isolation costs.


MR. LONG:  Yes.


MR. RUPERT:  There were some questions came up, a line of questions, as to these OM&A and capital expenditures for 2008 and 2009 for that project, and I am wondering why those kind of costs might not have been captured in the updated liability for decommissioning and used fuel, and so on, given that the decision to shut down 2 and 3 was made quite a long time before the new liability was updated.


I just wondered if you could explain a bit, for that thing, what the basis is for costs to be included in the liability or not to be included in the liability.  I am trying to understand why costs that were triggered, it appeared, solely by a decision to shut down some units, were actually flowing through OM&A and capital for operating units.


MR. CASTELLAN:  I will take a first shot at it, and then Fred can fill in the gaps.  When we constructed our ONFA reference plan for 2006, we did include an assumption that Pickering units 2 and 3 were going to be shut down.  So we did, in terms of that reference plan, include some costs associated with the shutdown of Pickering units 2 

and 3.


Now, the second point I want to make is that within the ONFA reference plan, it does -- or the ONFA agreement, sorry, it does lend some agreement, some definition, in terms of what costs are acceptable to recover from the decommissioning funds and what costs aren't.  And there is one clause in there to suggest that the costs to put a CANDU reactor into safe store following permanent shutdown is eligible for decommissioning funds.


So the third point is that if one looks at the program that's been defined for Pickering units 2 and 3, in consultation with the province, because they're ultimately the ones that release the funds to us, you know, working through the work breakdown structure, some clearly were associated with putting the units into safe store.  Those were paid for or going to be paid for through the seg funds.  


Others were costs associated with isolating the units to allow units 1 and 4 to continue operating.  There weren't really associated with the safe store of the units, so those had an OM&A and capital component to it.  


Fred, I don't know if you wanted to add anything to that.


MR. LONG:  And I think Mr. Leavitt mentioned this yesterday, that there was sort of these two halves to the project:  What's truly decommissioning and what's truly needed to enable units 1 and 4 to continue to operate within an island where you have two units operating and two units shut down?


MR. RUPERT:  Even though the costs for the isolation project, seems like, are triggered solely by the shutdown decision for 2 and 3 -- you wouldn't be doing this work on 1 and 4, I assume, if it weren't for the decision to shut down 2 and 3 right now.  Those costs, though, for some of them you capitalized and depreciated over, I guess, many more years in the future, even though the costs are triggered solely by a decision to shut down two units and presumably aren't extending the life of the existing units, then.  


So there are sort of two buckets.  One is, I think you said the decommissioning fund may not accept some of these costs; I understand that. I guess the other one is -- not your panel, I appreciate, this time around -- but the fact these are now capitalized and depreciated for many years when the expenditures seem to emanate from a decision to shut down a unit, not from a decision to do anything differently with units 1 or 4.

I guess that maybe is outside of your panel right now.

MR. LONG:  I am not sure I can add a lot.

I mean the -- as Mr. Castellan has indicated, the -- within ONFA, there are certain eligibility criteria that have to be met before you can take money out of either fund.

Those costs associated with isolating 2 and 3 to enable units 1 and 4 to operate would not be acceptable to the province for removal from the fund.

As for OM&A versus capital, I will let Mr. Brydon speak to the criteria that are used there.

MR. BRYDON:  Well, the criteria are as expressed in our evidence.

MR. RUPERT:  Well, Mr. Brydon, why don't we leave it there?  I was particularly interested in the liability side more than that.  I probably shouldn't have got back into capital versus OM&A.  It is more why wouldn't these things have been sucked up into the liability.  I think you answered the question that the fund itself could not fund all of this activity.  Let's leave it there.  Thanks.

MR. KAISER:  Any re-examination, Mr. Penny?

MR. PENNY:  No, Mr. Chairman.  The only questions I had noted down got cleared up in subsequent examination, so I have nothing further.  Thank you.

MR. KAISER:  All right.

Thank you, panel.

MR. PENNY:  We will be back, as I understand it, Monday, starting with the corporate panel, and then we will finish with them, and then if there is time, we will just have a bit of downtime and then proceed with cost of capital later in the week?

MR. KAISER:  Yes.  Thank you.

--- Whereupon the hearing adjourned at 4:24 p.m. 
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